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Question Number : 1 Question Id : 615475925 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the keyv teaching behaviour to make a teacher effective?

(1) Teachers' comments made for the purpose of organizing upcoming teaching process
(2) Use of content or process guestions by teacher
(3) Engagement of students in the learning process

(4) Using students’ 1ideas and contributions



Options:

6154753601, 1
£154753602. 2
E1547536032 2
6154753604, 4

Question Number : 1 Question Id : 615475925 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

154753601, 1
6154753602, 2
61547536803 3
6154753604, 4

Question Number : 2 Question Id : 615475926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The basic requirements for organizing teaching at reflective level deal with

(1) Systematic and sequential presentation of facts and information by the teacher
(2) Helping explore and explain problems and their solutions by students

(3) Tranzlating and interpreting the facts by the students

(4) (iving concrete facts and action sequences by the teacher

Options:

E154753605. 1
E154753606 2
E154753607. 3
6154753608 4

Question Number : 2 Question Id : 615475926 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154753605 1
61547536806, 2
6154753607, 3
154753608 4

Question Number : 3 Question Id : 615475927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the factors affecting teaching related to positive learning environment In an

institution :
(1) The extent to which teachers make clear presentation

(1) The scope for sharing and open dizcussions within the classroom and the institution as

such
(i11) Teacher's mastery of the content as reflected 1n answering students’ questions
(1v) Frequent use of positive reinforcers either in the institution or classroom
(v}  Avwailability of teacher and his'her guidance
Choose the correct answer from the options given helow :

(1) (1) and (111)
(2) (11) and (111)
(3) (1v) and (v)
(4) (11) and (1v)

Options:

6154753609 1
6154753610, 2
6154753611, 3
6154753612 4



Question Number : 3 Question Id : 615475927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3) (iv) 3 (v)
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Options:
6154753609, 1
6154753610, 2

E154753611. 3
E154r53612 4

Question Number : 4 Question Id : 615475928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the following list. which belong to the category of learner-centred approaches?
(1) SWAYAM

(1) Computer-aided instruction

(1) MOOCS

(1v) Quizzes

(vl Buzz-sessions

Select the correct answer from the options given below :

(1) (1) and (111)
(2) (11) and (111)
(3) (1) and (1v)
(4) (111) and (v)

Options:

615475368131
6154753614 2
6154753615 3
6154753616 4

Question Number : 4 Question Id : 615475928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154753613 1
6154753614 2
6154753615 3
6154753616 4

Question Number : 5 Question Id : 615475929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the following two sets. set I mentions the evaluation svstem while set II gives thewr
descriptive features. Match the two sets

Set I Set 11
(Evaluation system) (Descriptive features)
(a) Formative evaluation (11 Comparing the students’ performance

with that of others

(b)  Summative evaluation (1) Indicating standards of mastery
(c) Norm-referenced testing (111) Diagnosing students’ problems
(d) Crterion-referenced testing (1v) Identifving scope for improvement

(v) Judging learning standards

Choose the correct answer from the options given below :

(1) (a)-(1v). (b)-(v). (c)-(1). (d)-(11)

(2) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(3) (a)-(11). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)
Options:

51547536171
6154753618 2
E154753619 3
6154753620 4

Question Number : 5 Question Id : 615475929 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1v). (b)-(v). (e)-(1). (d)-(11)

(2) {a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)

Options:

154753617 1
E154753618. 2
154755619, 2
6154753620, 4

Question Number : 6 Question Id : 615475930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequences correctly reflects scientific investigation?

(1) Conceptualization. theorizing. deduced consequences. observation and testing

(2) Testing. ohzervation. conceptualizing. theorizing and deduced conzequences

(3) Theorizing. deducing consequences, testing. chzserving and conceptualizing

(4) Observation. conceptualization. theorizing. deduced consequences and method to

verify them
Options:
61547536211
6154753622 2
6154753623 3
154753624 4

Question Number : 6 Question Id : 615475930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154753621, 1
6154753622, 2

6154753622 3
E154753624. 4

Question Number : 7 Question Id : 615475931 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a research problem ‘studyving the effect of Teaching Methods on the Scholastic
Achievement of bovs and girls in terms of thelr socio-economic background’. which can be
dezignated as independent variable?

(1) Scholastic achievement (2) Teaching methods
(3) Gender (4) Soclo-economic background
Options:

E154753625. 1
E154753626 2
E154753827. 3
E154753628. 4

Question Number : 7 Question Id : 615475931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE154753625 1
E154753626 2
E154753627. 3
6154753628 4

Question Number : 8 Question Id : 615475932 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When results obtained in a research study can be extended to a group larger than the
sample (outside the context of the study) 1t 1s called

(1) Internal validity (2) Functional relationship
(3) External validity (4) Hypothetical construct
Options:

E154753629. 1
E154753630. 2
E154753631. 3
BE154753632. 4

Question Number : 8 Question Id : 615475932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE154753629. 1
E154753630 2
6154753631 3
E154753632. 4

Question Number : 9 Question Id : 615475933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a thesis ‘Format and styvles of referencing’ have been inappropriately followed. this 1s an
example of

(1) Technical lapse on the part of researcher

(2) Unethical practice of the researcher

(3) Inability of the researcher to write a thesis

(4) Lack of commitment on the part of researcher to write a thesis
Options:

E154753633. 1
E154753634 2
6154753635 3
E154753636. 4

Question Number : 9 Question Id : 615475933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154753633, 1
6154753634, 2

E154753635 3
61547536356 4

Question Number : 10 Question Id : 615475934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A university department plans to undertake a study wherein attitudes. values and biases of
teachers and students are to be probed with an eve on disclosing their patterns of
adjustment. Which tyvpes of research methods will be considered appropriate in this context?

(1) Experimental method
(11) Case study method
(1)  Descriptive method
(1v)  Ethnographic method

(v) Historical method

Select the correct answer from the options given below :

(1) (1) and (11) (2) (1) and (1i1)
(3) (111) and (v) (4) (1) and (1v)
Options:

51547536371
6154753638 2
6154753639 3
E154753640 4

Question Number : 10 Question Id : 615475934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (i) 3\ i) (2) (i) 3/ (iid)
(3) (i) 3R (v) (4) (1) 30 (1v)
Options:

E154753637. 1
6154753638 2
E1547536839. 3
E154753640 4

Question Number : 11 Question Id : 615475935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Dynamics of good classroom communication imnvolves :

(a) Indifference

(h) Motivation

(c) Being organised
(d) Exclusivity

(e) Participation

(f) Gendered views

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (c) and (e) (4) (c). (e) and (D)
Options:

E154753641. 1
E154753642 2
5154753643 3
E154753644 4

Question Number : 11 Question Id : 615475935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  (a), (b) X () (2) (b), (c) &R (d)
3) (b, (c) X (e) 4 (e, (e) (D
Options:

51547536411
6154753642 2
6154753642 3
E154753644. 4

Question Number : 12 Question Id : 615475936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Instructional communication in the distance education mode 1s

(1) unstructured (2)  self-regulatory
(3) informal (4) structured and interactive
Options:

E154753645. 1
E15475364E 2
E154753647 3
5154753648, 4

Question Number : 12 Question Id : 615475936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT ST GERTAT § ST AR AR B 2

(1) A 2y =-fafams
(3) HATTHT (4) H=E AR AT
Options:

E154753645 1



E15475364E 2
6154753647 3
5154753648, 4

Question Number : 13 Question Id : 615475937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A teacher tells his students — "When vou learn this. vou will be able to carry out vour project’.
What does this communication suggest?

(1) Continued interest (2)  Ambiguous advice
(3) Potential threat (4) Positive reinforcement
Options:

61547536459 1
6154753650 2
E154753651. 3
E154753652. 4

Question Number : 13 Question Id : 615475937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

£154753649. 1
6154753650 2
E154753651. 3
E154753652. 4

Question Number : 14 Question Id : 615475938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The principles of effective writing useful for both students and teachers are

(a) Stress on hyperboles
(b) Liberal use of adjectives

(c) Clarity

(d) Conciseness
(e) Correctness
(£) Use of complex sentences

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (c). (d) and (e) (4) (d). (e) and ()



Options:

6154753653 1
£154753654 2
£15475365E 2
6154753656, 4

Question Number : 14 Question Id : 615475938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) (a). (b) 3T (c) (2) (). (c) 3 (d)
(3) (c). (d) 3T (e) (4)  (d). (e) 3T (D)
Options:

E154753653. 1
E154753654 2
E154753655 3
E154753656. 4

Question Number : 15 Question Id : 615475939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Communication does not include all human behaviour for exchange of
information
Reasons (R) : Communication involves the use of all five senses

Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

() Both (A) and (R) are true but (R) 1= not the correct explanation of (4)
(3 (A) 15 true. but (R) 1= false
(4) (A) 1s false. but (R) 1s true

Options:



BE154753657. 1
6154753658 2
6154753659 3
6154753660, 4

Question Number : 15 Question Id : 615475939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154753657, 1
6154753658, 2
6154753659 3
6154753660, 4

Question Number : 16 Question Id : 615475940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Two numbers are in the ratio 3:7. If 8 1z added to both the numbers. their ratio becomes 5:9.
The numbers are

(1) 12. 28 (2) 6.14
(3) 15, 35 (4) 24,56
Options:

E154753661. 1
6154753662 2
E154753663. 3
E154753664. 4

Question Number : 16 Question Id : 615475940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 12,28 (2) 6, 14
(3) 15, 35 (4) 24, 56
Options:

5154753661, 1
E154753662 2
6154753662 3
E154753664, 4

Question Number : 17 Question Id : 615475941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The number X in the following series :

3.8,18,38. X ...1s

(1) 78 (2) 80
(3) 76 (4) 74
Options:

E154753665. 1
E154753666. 2
E154753667. 3
E154753668. 4

Question Number : 17 Question Id : 615475941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fefgs JTFa 0 X B -

3.8, 18,38 X, ...

(1) i8 (2) 80

(3) 76 (4) 74
Options:

E154753665. 1
E154753666. 2
E154753EE7. 3
E154753668. 4

Question Number : 18 Question Id : 615475942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If ‘ SOLUTION" 158 RS5KTSHSM' then ‘"CROME’ will be written as

(1) BQ5HL (2) B5HQLH
(3) BQ5HLD (4) BS5LH
Options:

E154753669. 1
6154753670 2
E154753671. 3
B154753672 4

Question Number : 18 Question Id : 615475942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
% ‘SOLUTION' % fou ‘RSKTSHAM' a1 ‘CROME’ &1 F=ffiga § & g 9 4 Torar smom ?

(1) BQH/HL (2) B5QLH
(3) BQLLD (4) BS5LH
Options:

E154753669. 1
6154753670 2
E154753671. 3
E154753672 4

Question Number : 19 Question Id : 615475943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If 'a’ 1= inversely proportional to "b” and ‘b’ 1z inversely proportional to ‘¢, then

(1) ‘a’ 1s Inversely proportional to ‘¢ (2) ‘a1z directly proportional to ¢’
(3) ‘a’ 13 constant (4) ‘a’ 1s directly proportional to ‘be’
Options:

BE154753673. 1
BE154753674 2
6154753675 3
E154753676. 4

Question Number : 19 Question Id : 615475943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T3 'a’, b I S I ERIGH 2 3R b e Hh AT 2, dl
(1)  ‘a.'c 1 FAHEHIE & (2) ‘a. ¢ FH ATAHEIE 2
(3) ‘g f™R? (4) ‘@ ‘b F IFTAHHIE 2

Options:



BE154753673. 1
B154r53674 2
6154753675 3
E154753676. 4

Question Number : 20 Question Id : 615475944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A sum of Rs. 2.000 yields Rs. 180 with simple interest in nine (9) months. The annual rate of
interest 1s

(1) 9% (2y 10%
(3) 11% (4) 12%
Options:

B154753677. 1
E154753678. 2
E154753679 3
E154753680. 4

Question Number : 20 Question Id : 615475944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

£2000 D39 $t 990 W o UEH T T 150 1 IR =19 UH 241 2| =A7s i aihF = 2 -

(1) 9% (2) 10%
(3) 11% (4) 12%
Options:

B154753677. 1
6154753678 2
6154753679 3
E154753680. 4

Question Number : 21 Question Id : 615475945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A fallacy in which an opponent’s position 1s depicted as being more extreme or unreasonable
than 1s justified by what was actually asserted 1s called

(1) Argumentum ad Baculum (2) The Red Herring
(3) Argumentum ad Hominem (4) Straw Man
Options:

B154753681. 1
6154753682 2
6154753682 3
E154753684, 4

Question Number : 21 Question Id : 615475945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Uy Feara 99y gidare) = feafd = avaa § gieed O Al e @1 SRR 9 ° g9E T
1 d1 33 F41 FEl a1 27

(1)  3TIH=H U3 S (2) 7 Ig g
(3)  ATYH-eH Uz EHm (4) T
Options:

E154753681. 1
E154753682. 2
E154753683. 3
E154r53684. 4

Question Number : 22 Question Id : 615475946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The distinction between Savikalpaka (determinate) and Nurvikalpaka (indeterminate) is
made with respect to which of the following pramanas?

(1) Anumana (inference) (2) Pratyvaksa (perception)
(3) Arthapatti (postulation) (4) Upaména (comparison)
Options:

E154753685. 1
E154753686. 2
E154753687. 3
E154753688. 4

Question Number : 22 Question Id : 615475946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafafigg 1 O g o & gay § gfasets i ffdseas 5 &9 d@ o aar 27
(1) A (2) cEd

(3) A (4) F9HH

Options:

E154753685. 1
E154753686. 2
E154753687. 3
E154753688. 4

Question Number : 23 Question Id : 615475947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The term ‘Paksa’ according to classical Indian school of logic refers to which of the following
terms 1n the process of inference?

(1) Major term (2) Undefined term
(3) Minor term (4) Mhddle term
Options:

E154753689. 1
E154753690 2
B154r536391. 3
6154753632 4

Question Number : 23 Question Id : 615475947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TTE AT A5 HrEE AN UA SEE Fi 9l § Feiatad § O e g O getad 27

(1) dggd 13 (2) AT T2
(3) H (4) T YT
Options:

E154753689. 1
E1547538590 2
E154753691. 3
BE154753692 4

Question Number : 24 Question Id : 615475948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following refers to an attribute of everv categorical proposition which 1s
determined by whether the proposition affirms or denies class inclusion?

(1) Quality (2) Quantity
(3) Distribution (4) Comparison
Options:

E1547536392. 1
61547536394 2
E154753695 3
E154753696. 4

Question Number : 24 Question Id : 615475948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HeTciEd ¥ ¥ :H-T1 @%ed Tod% oA aarad ) [Gemdl O ddidd 2 1 29 od J F[4iiEa 2an 2
o TehaTe 7 OHESH F1 R FAT § A9E R AT 27
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Options:

6154753693 1
£154753694 2
£154753695 2
6154753696, 4

Question Number : 25 Question Id : 615475949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The product of any three consecutive integers is divisible by 6. Therefore, 3 x 4 x 5 (=60), is
divisible by 6? Which type of reasoning is embodied here?

(1) Deductive Reasoning (2) Inductive Reasoning
(3) Non-verbal Reasoning (4) Abductive Reasoning
Options:

E1547536397. 1
61547536398 2
E1547536899 3
E154753700, 4

Question Number : 25 Question Id : 615475949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
foft 1 STAR Ul T 1 ESA 6 g 9T 2| 314 3 x 4 x 5 (=60). 6 gNI 94 #| 4 fFH

(1) AT T [y iz 5 ok
(3)  Era® a= (4)  AITEAHF 95
Options:

B154753657. 1
6154753638 2
E1547536399 3
6154753700, 4

Sub-Section Number: 2
Sub-Section 1d: 61547544
Question Shuffling Allowed : Yes

Question Id : 615475950 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension



Directions Q. 26-30 : The following table gives the percentage (%) of people having
knowledge of different programming lansuages. Assuming that the total number of people
having knowledge about programming language 1z 12.00.000. answer the gquestions that
follow the table :

Programming Language | % of People having knowledge
e s 15%
C 25%
COBOL 12%
FORTRAN 15%
Java 15%
LISP 10%
Pyvthon 10%

Sub questions

Question Number : 26 Question Id : 615475951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of the number of people having knowledge about C to that of knowledge about
Java 1s

(1) d=h £y 5:3
(3) 1:1 (4 5H5:92
Options:

E154753701. 1
BE154753702 2
B154753703 3
E154753704, 4

Question Number : 27 Question Id : 615475952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many people have knowledge about C language?

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E154753705. 1
B154753706 2
E154753707. 3
E154753708. 4

Question Number : 28 Question Id : 615475953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The total number of people having knowledge about C. Java and COBOL 1s

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

E1547537059. 1
6154753710 2
E154753711. 3
E15475371Z 4

Question Number : 29 Question Id : 615475954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 15 the average percentage (%) of people having knowledge of programming language —
Python. LISP and Java?

(1) 1.04% 2y 11.7%
(3) 26.6% (4) 11.0%
Options:

61547537121
E154753714 2
E154753715 3
E154753716. 4

Question Number : 30 Question Id : 615475955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Difference in the number of people having knowledge of C and COBOL programming
languages 1s

(1) 1.20.,000 (2) 1.80,000
(3) 1.44.000 (4) 1.56.000
Options:

BE154753717. 1
B154753718. 2
61547537159 3
E154753720 4

Question Id : 615475950 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label @ Comprehension



2w (999: 26 ¥ 30) : Fefanagd @ifasn § fafag gmnigy =vas 99 9o SARA1 51 9ideadr 9 T 2
Atz o T S 5 S Sae 99e 9 SEa B FE 9= 12,00,000 2, G A1 WOSATETE
Fafeigd 9941 =1 391 2y

T Ao Jeqma-Ef SAFAT TEH

TTe] ZATRAT =l W]
C++ 15%
C 25%
FIETA 12%
pariEl 13%
iG] 15%
A AR UE b 10%
T2t 10%

Sub questions

Question Number : 26 Question Id : 615475951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 3:5 (2) b5:3
(3) gl (4) b5:2
Options:

51547537011
E154753702 2
E154753703 3
E154753704, 4

Question Number : 27 Question Id : 615475952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E154753705. 1
B154753706 2
E154753707. 3
E154753708. 4

Question Number : 28 Question Id : 615475953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

C. a1 31 FE o de A dTe] SRl il Fd T 7

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

E1547537059. 1
6154753710 2
6154753711 3
E15475371Z 4

Question Number : 29 Question Id : 615475954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2T, U 312 U 17 3T = GO Svd i FEEE @ 3 d 6 S 0d 9iqeddr A 27
(1) 1.04% () 11.7%

(3) 26.6% (4) 11.0%

Options:

61547537121
E154753714 2
E154753715 3
E154753716. 4

Question Number : 30 Question Id : 615475955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options:

E154753717. 1
B154753718. 2
61547537159 3
E154753720 4

Sub-Section Number: 3
Sub-Section 1d: 61547545
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 615475956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following storage devices :

(a) Hard disc
(h) CD-ROM
(c) DVD-ROM

Arrange these in ascending order of storage capacity and select the correct option :

(1) (b). (). (a)
(2) (b). (a). (c)
(3) (c). (b). (a)
(4) {a). (c). (b)

Options:

6154753721 1
6154753722 2
6154753723 3
6154753724 4

Question Number : 31 Question Id : 615475956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[ | o I ™ g [ i [ i F
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Options:

61547537211
6154753722 2
6154753723 2
6154753724 4

Question Number : 32 Question Id : 615475957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a ‘Decision Support System’ for assisting people 1n taking best

decizions for their childern’s future?

(1) E-Pathshala

(2) Saransh

(3) Shaala Sidhdhi

(4) SWAYAM PRABHA

Options:
61547537251

E154753726 2
BE154753727. 3
B154r53728. 4

Question Number : 32 Question Id : 615475957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

fafafigs @ 4 F9 =1 A gR1 399 9= % 99 & AU gdes v o 4 mgea =1 A o

oo 9 27
(1) 2SS

(2) T

[

(3) FMAT THIG

(4) TATHTHT

Options:

6154753725 1
6154753726 2
6154753727 3
6154753728 4

Question Number : 33 Question Id : 615475958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT suitable in the context of E-mail?

(1) It is a letter sent over a computer network
(2) It can be used to send unsolicited messages
(3) E-mail is snail-mail

(4) E-mail address includes domain name

Options:
154753729 1



E154753730 2
6154753731 3
B154r53732 4

Question Number : 33 Question Id : 615475958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

eTeiad H H H @1 3-9o & A29 4 3179 F 27
(1) =8 HUge J2deh T 91 70 OF 0 2

(2) I FATEd Houil 1 994 § T @1 O5dl 2
(3) ST O TIfd AT O 2

(4)  T-TA 94 ° ST 99 MG 26T 2

Options:

6154753729 1
£1547537320 2
E154753721. 2
6154753732, 4

Question Number : 34 Question Id : 615475959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT :

ListI Last IT
(E-1nitiatives) (Descriptions)
{a) Vidwan (1)  Repository for full-text thesis. e-books

and journals

(b) Digilocker (1) Education portal to facilitate learning

(¢) Sakshat (i11) Database of leading scientists/
researchers

(d) Shodh Ganga (iv) Platform for 1ssuance and verification

of documents and certificates

Choose the correct answer from the options given below :

(1) (a)-(1). (b)-(11). (e)-(iv). (d)-(11)
(2) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (¢)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(m1). (d)-(1v)

Options:
6154753723 1



E154753734 2
6154753735 3
B154753736. 4

Question Number : 34 Question Id : 615475959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

T=A-1 %1 GEI-11 = 319 AT Hig
T=i-1
(3-wafvrzFm)
(a) r'a- gl
by TEEE=
(c)  HIEE
(d) Ihg T
= 20 U fTeT 4 a8 S 96

(1) (a)-(1). (b)-(111). (¢)-(v). (d)-(11)
(2) (a)-(111). (b)-(1w), (¢)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)

Options:

E1547537332 1
6154753724 2
6154753735 2
6154753736 4

(1)

{11)

I

(feramo)
q0 e WY e, -g99 AT SHed W
BEL

(ii1) SIS SFIRT /T T SEeE

{(1v)

Question Number : 35 Question Id : 615475960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In computer related activities. what 1s the full form of " WORM'?

(1) Write On Random Memory
(2) Write On Real Memory
(3) Write Once Read Many

(4) Write Once Read Memory

Options:
E154753737. 1



E154753738. 2
B1547537359 3
6154753740 4

Question Number : 35 Question Id : 615475960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FOAZ TA(9d FHEFAT T Soolg 31 30 TF° F1 99 =9 27

(1) 22 19 =0 o

(2)  TE2 AF =9 qgE]
(3) =2 g i ud

(4) 22 79 T OO

Options:

6154753737 1
£154753738 2
£1547537329 2
6154753740, 4

Question Number : 36 Question Id : 615475961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Government of India has set up the Ministry of Jal Shakti by merging/renaming which

of the following :

(1) Ministry of Water Resources and Ministry of Earth Sciences

(2) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Minmistry of Rural Development

(3) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Ministry of Drinking Water and Sanitation
(4) Ministry of Water Resources

Options:

6154753741 1
6154753742 2
6154753743 3
£154753744 4

Question Number : 36 Question Id : 615475961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£154753741. 1

E154753742 2
E154753743 3
B154753744 4

Question Number : 37 Question Id : 615475962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify environmental 1ssues which are local in nature :

(11  Depletion of ozone layer
(1) Lake pollution

(111) Soil erosion

(1v) Clhimate change

(v) Water logging

(vi) Solid Waste Management

Select the answer from the options given below :

(1) (11). (11). (v) and (v1) (2)  (m1). (1v). (v) and (v1)
(3) (11). (111), (1v) and (v) (4)  (1). (11). (111) and (1v)
Options:

E154753745. 1
E154753746 2
6154753747 3
6154753748 4

Question Number : 37 Question Id : 615475962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ST T T &0
(11) e TgHv

i) gE
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(v) AR

(vi) B 398 JayH

I 72U T g 0 0 OE 39 9 999 S

(1) (ii). (iii). (v) 3T (v1) (2) (i), (v). (v) 3T (v1)
(3) (ii). (ii1). (iv) 3T (v) (4)  (1). (11). (ii1) 377 (iv)
Options:

51547537451
6154753746 2
6154753747 3
6154753748 4

Question Number : 38 Question Id : 615475963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following UN Conferences/Summit adopted the programme of Action for
Sustainable Development?

(1) Stocltholm Conference (2)  Rio de Janeirec Conference
(3) Johannesburg Summit (4) Ahmedabad Conference
Options:

E1547537459. 1
6154753750 2
6154753751 3
E154753752 4

Question Number : 38 Question Id : 615475963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafafas o O fFe oo Ty auieq /gt 90§ auofig fasm SiFE e (9 3 TEEE wH
T2 ae SaeATHz ) 1 ATTE T 7

(1) =M F5 (2) e fz Sfeh ==
(3)  FrEge gmeg (4) 3TEHITETE FI5H
Options:

6154753749 1
E154753750 2
BE154753751. 3



E154753752 4

Question Number : 39 Question Id : 615475964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following indicates the objective of the United Nations Framework Convention
on Climate Change (UNFCCC)?

(1) To stabilize greenhouse gases concentration in the atmosphere

(2) To prescribe limits on greenhouse gas emizsions for individual countries

(3) To lay down enforcement mechanisms

(4) To prepare guidelines for formulation of Climate Action Plan by member countries
Options:

E154753753. 1
B154753754 2
6154753755 3
6154753756 4

Question Number : 39 Question Id : 615475964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
eAfafiga § § FH-51 9% U909 Foard Tadq e 99 (3 U9 O O @ 5 F 359 1 i
27
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(4) TSI EE0 GRS FEAENAT AR i e aan e

Options:

6154753753 1
6154753754 2
6154753755 3
6154753756 4

Question Number : 40 Question Id : 615475965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For encouraging worldwide awareness and action for the protection of our environment.
UNEP focused on the World Environment Dav (2019) on which of the following themes?

(1) Conserve energy (2) Tackle cimate change
(3) Beat air pollution (4) Save water
Options:

B154753757. 1
6154753758 2
6154753759 3
E154753760. 4



Question Number : 40 Question Id : 615475965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE154753757. 1
6154753758 2
E154753759 3
E154753760. 4

Question Number : 41 Question Id : 615475966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Ancient Indian University known as the chief centre for advanced and specialized
studies 1n Nvava or Logic was

(1) Jagaddala University (2) Mithila University
(3) Nadia University (4) Valabhi University
Options:

E154753761. 1
E154r53762 2
E154753763. 3
E154753764. 4

Question Number : 41 Question Id : 615475966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fafafga § 4 fea w=in g fvafaem =1 3 o oF e 8 3= 3 T gordl 5 g #3
% ¥9 H A1 187

(1) Tee favaiaa=ig (2) Taferen fAvata=g
(3)  Ariean favatEag (4) dFzd favafrem
Options:

BE154753761. 1
E154r53762 2
E154753763 3
6154753764 4

Question Number : 42 Question Id : 615475967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which 1tems 1n the following constitute the non-conventional learning programmes?

(1)  Tea sommelier

(1) Oriental languages
(1) Spa management
(1v) Museology

(v) Comparative languages

Select the correct answer from the options given below :

(1) (1). (11) and (1v) (2) (11). (111) and (v)
(3) (1), (111) and (1v) (4) (11). (1v) and (v)
Options:

BE154753765. 1
E154753766. 2
E154753767. 3
6154753768 4

Question Number : 42 Question Id : 615475967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HefIfigd § 4 #H U 98 -TRA AT FER] F g2 a7
(i) @ gmfer
(11) =4 919
(iii) 797 JEEH
(1v) ATed - fagH
(v)  JoHTHE 9

FATeigd el § 8 A7 30 3

(1) (1), (i) 37 (v (2) (i), (ii1) 3 (v)
(3) (1). (ii1) 37 (iv) (4)  (i1). (iv) 31 ()
Options:

E154753765. 1
E154753766. 2
E154753767. 3
E154753768. 4

Question Number : 43 Question Id : 615475968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is a non-statutory body?

(1) National Council for Teacher Education (NCTE)
(2) Bar Council of India (BCI)
(3) Rehabilitation Council of India (RCI)
(4) National Assessment and Accreditation Council (NAAC)
Options:
154753769 1
154753770 2
E1E47527F71. 2
154753772 4

Question Number : 43 Question Id : 615475968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  THE 3T f91em 9fmg (v ©i & 2)

(2) AR Aaaeaal I09E (3 @1 =18)

(3)  OWAE T9EE T (AW W e

(4) o 1:1;~:|‘|$,:| R goargq 9 (v U U i)
Options:
£154753769. 1
£154753770. 2

6154753771 3
E154753772 4

Question Number : 44 Question Id : 615475969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following has been the basis for introduction of voga 1n teacher training
courses’

(1) National Policy of Education — 1968
(2) National Policy on Education — 1986

(3) Vision of Teacher Education in India : Quality and Regulatory Perspective — 2012
(4) Draft National Education Pohicy — 2019

Options:

6154753773 1

6154753774 2

6154753775 3

154753776 4

Question Number : 44 Question Id : 615475969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FATTF- T80 WSl H AT i Wb w4 6 Efaies 8§ 8 5 9 snem 20
(1) ¥ forem fifd-1968
(2) e foren fifg-19386
(3) WA ey faew i wfasy gfe, qoemn @ fatmEms wfde-2012
(4) T e Aid-2019 F1 9
Options:
6154753773 1
E154753774 2

E154753775 3
E154753776. 4

Question Number : 45 Question Id : 615475970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the ‘NITI Aayog — Three Year Action Agenda Items’ related to the field of Higher
Education :

(1)  Autonomy for top colleges

(i) Reform of the regulatory system

(ii1) Establishing a system of project and scholar-specific research grants
(iv) Promotion of research culture

(v) National Research Foundation

Select correct answer from the options given below :

(1) (1). (1) and (ii1) (2) (1), (11) and (1v)
(3) (111), (iv) and (v) (4) (iv), (1) and (i1)
Options:

BE154753777. 1
E154753778 2
B1547537759. 3
E154753780. 4

Question Number : 45 Question Id : 615475970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3= T9em & 4 datya Aifg s mam = G o + v 991 i weEE #+7

(i) I Frerar i =
(i)  TafEmEE 93 ° gan
(it)  FHATSAT 377 e shigd wd SHEE1 i TEid T

(iv) 9 Tl 1 "5
(v) TS T qidsE

Fefeafad fasedi § O 3191 390 9

(1) (1), (i1) 37T (iii) (2) (i), (ii1) 3E (iv)
(3) (ii1). (1v) 3T (v) (4) (1), (1) 371 (i)
Options:

E154753777. 1
6154753778 2
6154753779 3
E154753780. 4

Sub-Section Number: 4
Sub-Section Id: 61547546
Question Shuffling Allowed : Yes

Question Id : 615475971 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension

For gquestions (46-50) :

Read the passage carefully and answer questions that follow :

Political ‘representation’ nonetheless is the vehicle that enabled the re-introduction of
“democracy’ into the modern, practical political vernacular. The resulting liberal democracy
does not directly descend from the ancient Athenian democracy. Between the eras virtually
nothing existed that approached “democracy” as an actual or named political form and when
it again became a focus of polities and theory, it was wedded to representation — so that what
we call a democracy is, infact, a distinctive kind of democracy, “a representative democracy
While elections and popular pressure surely have political impact, the actions of
representatives are the primary, official mechanism for translating democratic citizenship
into political power. We rely on the representative process to promote political goodness in
democratic societv. But when one imagines the idea of representation these davs. its
association with ethics or goodness does not spring to mind. It is an impersonal process, after
all — a mechanical method by which one entity stands for or re-presents another, politically
required by the need to channel the judgements of millions of citizens into the legally
authoritative hands of a small number of public representatives. or even the sentiments of
thousands into the leadership of single person.

Sub questions

Question Number : 46 Question Id : 615475972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following implies the characteristic of modern political vernacular?

(1) Populist politics (2)  Absence of structure
(3) Ethical dizcourse (4) Representiveness
Options:

E154753781. 1
B154753782 2
6154753783 3
6154753784 4

Question Number : 47 Question Id : 615475973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The political representation enabled the emergence of

(1) Athenian democracy (2) Liberal democracy
(3) Actual democracy (4) Theoretical democracy
Options:

5154753785 1
E154753786. 2
6154753757, 3
E154753788. 4

Question Number : 48 Question Id : 615475974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage actions of political representatives mamfest

(1) Political will (2) Popular pressure
(3) Political power (4) Self-effacing behaviour
Options:

E154753789. 1
6154753730 2
E154753791. 3
E154753792 4

Question Number : 49 Question Id : 615475975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the author. the 1dea of democracy 1s viewed as

(1) Ethical politics (2) Goodness of representation
(3) A representative process (4) Channelising views of a few people
Options:

E154753783. 1
E154753794 2
B154753795 3
B154753796. 4



Question Number : 50 Question Id : 615475976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the perception of the author with regard to representational democracy?

(1) Legal as well as ethical

(2) Universal participation

(3) Arbitrarily authoritative

(4) Centralizsation of power 1in a few individuals
Options:

61547537971

6154753798 2

6154753799 3

154752800 4

Question Id : 615475971 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

T ;46 H 50

gz TeHIaF g TH 999 2 999 A, SAEai, THds 311 S9F 9 9 CAmwaq
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ar=d H T F3 21 91 A1 Fad ® Tdide 21 A THHGH S0 TEd 91 317 6 98 T TSI
AR fag/E =1 %5 701, 11 300 WA 98 - 99 g9 Sad Fed §, 9dd: OEY YR w6 @ 2
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AT THTE H TeHIa® 3=aE 1 d9g[@l ¢4 % o0 20 SidHEAeEs I T O9E 4 ¢l W
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BRI A =] A1 F 91 U SAE % Aged F 94 F] T ds SATE90Hdal 2l 2|

Sub questions

Question Number : 46 Question Id : 615475972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  AragEd T (2) T F A9E
(3)  ifama fams (4) FaHTEHARAT
Options:

51547537811
6154753782 2
6154753782 3
E154753784. 4



Question Number : 47 Question Id : 615475973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T=HiTa% SlaHE F R0 FeeRd 0 O =60 1 329 23717

(1)  TH F1 Aaa (2) 32N AHad
(3) AVATaE ATFAE (4) Tgifa® AFad
Options:

6154753785 1
E154753786. 2
E154753787. 3
E154753788. 4

Question Number : 48 Question Id : 615475974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) TSHiTd® T=aEs (2) THEEHE T ==
(3) TSI WE (4) AH-TI=IH =deEn
Options:

BE1547537859. 1
B154753790 2
6154753731 3
E154753732 4

Question Number : 49 Question Id : 615475975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T AR Add F a9 F1 g =9 1 JEr 9 2

(1) g e T (2) wldHTaE $i sr=ar
(3) Sl 9iE (4) F@ AM  [GEH] 1 G990 Y5H FT
Options:

6154753793 1
E154753794 2
E154753795 3
B154753736. 4

Question Number : 50 Question Id : 615475976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



UIAHI9e @ad & a4 H o@s &1 71 fJ=n 27
(1) Tafa 21 3=
(2)  OET 9rfieE
(3)  HAHHEI GATEH
(4) P ACEA F @A T F FE
Options:
6154753797 1
6154753798, 2

6154753739 3
61547535800, 4

FPART II Linguistics

Section Id : 61547514
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 61547547
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 615475977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following describes the writing system used 1in Chinese and Japanese Kanj?

(1) Logographic (2) Alphabetic
(3) Phonographic (4) Graphemic
Options:

61547525801, 1
E154753802. 2
E154753803. 3
E154753804, 4

Question Number : 51 Question Id : 615475977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tr=fefan 0 @ #5 w1 fowes =1 3t STt S0 § g9 oigs Tt &7 9via #aT 27

1) s e (2) =AviEHEHET
(3)  wHWES (RS 3mRET) (4) <Ifg=s

Options:

6154753801, 1
6154753802, 2
6154753803 3
£154753804. 4

Question Number : 52 Question Id : 615475978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following represents the i1dealization of speakers’ knowledge of theiwr
language, excluding slips of the tongue, limitations of memory?

(1) Anacoluthon (2) Competence
(3) Performance (4) Aposiopesis
Options:

5154753805 1
E154753806. 2
E154753807. 3
E154753808. 4

Question Number : 52 Question Id : 615475978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F=fafign & tmwn am FF ot wgfo doedl &1 83 = 99q1 % 9T 994 99 & STgEie 1 Ffaer

FAT2?

L swEHifE @)
(3) F FeaE (4) =ifa=ss
Options:

E154753805. 1
6154753806, 2
E154753807. 3
E154753808. 4

Question Number : 53 Question Id : 615475979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following gives the correct meaming to the term interchangeability in the Design
features proposed by Hockett?

(1) All utterances that are understood can also be produced

(2) There 1s a fixed relation between signal and meaning

(3) Sounds are emitted from the mouth and perceived by the auditory channel

(4) We can communicate about things which are distant in time and space.
Options:

61547535809 1
6154753810 2
E154753811. 3
E154753812 4

Question Number : 53 Question Id : 615475979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Blhe g1 WEdTiaa 31feey & atfusrso § ‘et 1g = Aofafes O 9 <0 a8 319 2

(1)  aueh I aret adi sfiysataa #1 gega § G s w21

(2)  Hekd 3 39 & =9 v fon ey )

(3) U@ H sl Icafea gl 8 377 Jav gieadi grn difa =i A 21

(4) B9 A =il F IH H FEE0 B HHRd 7, A B AL A9 i g | sEia 8

Options:

E154753209 1
6154753810, 2
6154753811, 2
6154753812 4

Question Number : 54 Question Id : 615475980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one out of the following terms represents the relationship between 'eat’ and "-en’ in the
word 'eaten’ 7

(1) Svntagmatic (2) Paradigmatic
(3) Polvsvstemic (4) Poetic
Options:

£1547535813. 1
E154753814. 2
E154753815 3
E1547535816. 4

Question Number : 54 Question Id : 615475980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



feferfiga 4 8 #1441 92 'eaten' 9152 1 'eat’ 3 en' % =g Hay 1 yfcwqu vl 87

(1) fa=rmwarens (2)  =rae-favrs
(3) ﬂﬁaﬁﬂﬂﬂqﬁﬁ (4) =R=TcHER
Options:

E154753813. 1
E154753814 2
5154753815 3
51547535816, 4

Question Number : 55 Question Id : 615475981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Read the following assertions:

Assertion (I) : An 'emic' approach iz the one where physical patterns of language are
described with a minimum of reference to their function within language
system.

Assertion (II) :  An 'etic' approach takes full account of funectional relationships.

Choose the correct option:

(1) I 1s correct. Il 12 wrong
(2) I 1s wrong, II 1s correct
(3) Both I and II are correct

(4) Both I and II are wrong
Options:

1547525171

1547538518 2

154752519 2

154752520 4

Question Number : 55 Question Id : 615475981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154753817 1
6154753818 2
£154753819 2
E154753820. 4

Question Number : 56 Question Id : 615475982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the correct chronological order of the books in which they were first published out of

the following:

(1) A Course in Modern Linguistics (Hockett). Langsuage (Bloomfield). Language : its

Nature, Development and Origin (Jespersen), Language, Thought and Reality (Whort)

(2) Language (Bloomfield), A Course in Modern Linguistics (Hockett) Language : its

Nature, Development and Origin (Jespersen), Language Thought and Reality (Whorf)

(3) Language : its Nature, Development and Origin (Jespersen), Language (Bloomfield),
Language, Thought and Reality (Whorf). A Course in Modern Linguistics (Hockett)

(4) Language, Thought and Reality (Whorf), A Course in Modern Linguistics (Hockett)

Language (Bloomfield). Language : its Nature, Development and Origin (Jespersen)

Options:
61547538211

E154753822 2
E154753823 3
B154753824. 4



Question Number : 56 Question Id : 615475982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr=fafign gt &1 37% yom yFNE % IER 9E %0 gH

(1) T &FF 5 77 frareqs (Fae), oo (SEHRS), &4 @ 5¢7 9, S90774¢ U8 iRl
(Fawe), oraw, gic vs Refered (aid)

(2)  oav (squhieE), T FiF 57 Hisd lonfaledg (34e), @7a9 ¢ 529 T, F9079Hc U8 iRl
(Fawe), g, Fie g8 Referlz ()

(3) GG ;529 A9, S90ITHZ U8 ki (FWTE), e (sEbies), e, Fie Us Rufrer (ArE),
T Fig 57 gisd fofatesd (gHe)

(4) caw, i Us Ruferel (Ath), T #19 57 s lafaleaq (ihe), &aa (Squhies), &av ; 524
FH, S9eT9He U ki (FETEA)

Options:

5154753821, 1

6154753822 2

6154753823 3
E154753824. 4

Question Number : 57 Question Id : 615475983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statement(s) 1s/are true about 'descriptive adequacy'?
(a) Grammar generates all of a particular sample of data correctly predicting which

sentences are well formed.

(b) Grammar generates all of a particular sample of data correctly predicting which

sentences are well formed, and describes the intuitions of native speaker.

(c) Grammar generates all of a particular sample of data correctly predicting which
sentences are well formed. describes the intuitions of native speakers and also
establishes a principled basis for deciding between alternative grammars which follow

the criteria above.

Choose the correct option:

(1) Only (a) 1s correct
(2) Only (a) and (b) are correct
(3) Only (b) and (c) are correct

(4) Only (a) and (c) are correct
Options:

154753825 1

E154753826 2

154753827, 2

154753825 4

Question Number : 57 Question Id : 615475983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE1547535825. 1
6154753826 2
6154753827 3
61547535828 4

Question Number : 58 Question Id : 615475984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items of List — I with the items in List — IT

List — 1 List — IT
(Disciphne) (Phenomena)
(a) Literature (1) Parsing
(b) Neurclhinguistics (11) Spectrogram
(c) Speech sciences (111) Aphasia
(d) Computer Science (1v) Foregrounding

Choose the correct option:

(1) (@)-0). (b)-@). (¢)-(id). (d)-Gv)
(2)  (a)-G1). (b)-Q). (¢)-(w). (d)-(i1)
(3)  (a)-G1). (b)-Gv). (c)-Q). (d)-(11)
4 (2)-Gv). (b)-Gid). (0)-(m). (d)-G)

Options:

6154753829 1
61547538320 2
£154753821. 2
6154753822 4

Question Number : 58 Question Id : 615475984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tfi-1 i w5l &t g=h-11 i 7t & gafem Sifem

Cil =11
(feram) (wgfa)

(a) @lecE Q)  Ye-TEam
(b) TR 9T =FEH Gi) TiEgE™
(c) T fawm (ii) aTeTEE

(d FFER EFH (iv) Il

(1) (a)-G). (b)-Q). (¢)-(11). (d)-Gv)
2)  (a)-@). (b)-G). (c)-Gv). (d)-G11)
(3)  (a)-G1). (b)-Gv). (¢)-@). (d)-G1)
4 (@)-av). (b)-(11). (0)-(). (d)-Q)

Options:

6154753829 1
6154753820 2
6154753821, 3
6154753832 4

Question Number : 59 Question Id : 615475985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Computational Linguistics 1s best defined by which one of the following?

(1) Finite State automata (2) Natural Language processing
(3) Word sense disambiguation (4) Parsing
Options:

E1547535833. 1
61547535834 2
E154753835 3
E154753836. 4

Question Number : 59 Question Id : 615475985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e 19T Tase =1 Thaes gr g9mas v fohar <iman 2 -

(1)  gfifas srewn == (2) EHa 9T HETEH
(3)  vegd faEferdm (4) -
Options:

E1547535823. 1
615475358234 2
61547535835 3
E1547535836. 4

Question Number : 60 Question Id : 615475986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The 'Shiva sutras' of Panini deal with

(1) Phonemes of Sanskrit (2) Semantics of Sanskrit
(3) Syntax of Sanskrit (4) Pragmatics of Sanskrt
Options:

61547535837 1
E154753838. 2
E154753839. 3
51547535840, 4

Question Number : 60 Question Id : 615475986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

OH & RE-g REE g99 1

(1) ¥&%d & w@@hH (2) HEHd & ATTH
(3) HEHA & 99 fagmE (4) HEHT & Fha 9F0 fagE
Options:

E154753837. 1
6154753838 2
E1547535839 3
E1547535840. 4

Question Number : 61 Question Id : 615475987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A type of phonation in which the arytenoid cartilages hold the posterior end of the vocal folds
together so that they can vibrate only at the other end 1s called

(1) Pharyngealhization (2) Velarization
(3) Larvngealization (4) Nasalization
Options:

E1547535841. 1
E154753842 2
61547535843 3
E1547535844. 4

Question Number : 61 Question Id : 615475987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U T e, e gdihed STfeEl @wasd % SR & e i UH WY @Al @ de 4 9 gi 8 R
Tl L Goh | 5! &7 Hgl al 27

(1) pEERED (2) Had T
(3)  FHeHSH @) T
Options:

£1547535841. 1
61547535842 2
E154753843 3
E1547535844. 4

Question Number : 62 Question Id : 615475988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Read the following assertions:

Assertion (I) : Fricativezs have turbulent flow through the channel only when they are
voiced.
Assertion (II) :  Approximants have turbulent flow only when they are voiceless.

Choose the correct option about the two:

(1) I1s false and II 1s true
(2) Both I and II are true
(3) I 1z true and II 1= false

(4) Both I and II are false

Options:

6154753845 1
6154753846 2
£154753847. 2
E154753848. 4

Question Number : 62 Question Id : 615475988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fafefigs arfuwem gfeo .
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(1)  (D7e 3 ik (1) =& 2
(2) (D3R AD T w2
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Options:
1547538545 1

E154753846. 2



E154753847. 3
51547535848, 4

Question Number : 63 Question Id : 615475989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Read the following assertions:

Assertion (I) : Ejectives and 1implosives are produced with a glottalic airstream
mechanism.
Assertion (II) : Clicks are produced with a velaric airstream mechanism.

Select the correct option about the two:

(1) Both I and II are true
(2) I 1s true and II 1s false
(3) I1s false and II 1s true

(4) Both I and II are false
Options:

6154753849 1

&154753850 2

154753851 2

E154753852 4

Question Number : 63 Question Id : 615475989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ffeifiga em afew .

3Tt (D) - fega 3t 279 THIE UF vaHgRE 91 Y98 99 § 309 3d 2

it (1D fFeas v ggarersd 979 ¥AE 99 § 309 70 2
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(1)  (I) 3tk JI) g1 ¥ 2
(2) @)@ g 3tk @D 7o 2|
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4 () ¥k QD) 2] 7Tem 2|

Options:

6154753849 1
6154753850 2
£154753851. 2
6154753852 4

Question Number : 64 Question Id : 615475990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match Tast — T with List —IT :

List —1I List —II
(a) Voeal tract volume (1) Hertz (Hz)
(b) Sound pressure (1) decibels (dh)
(¢) Frequency (111) dyne per square centimetre (dvne/cm?)
(d) 1ntensity of sound (1v) Cubic centimetre (cm?)

Choose the correct option :

(1) (a)-(11). (b)-(1). (c)-(1m1). (d)-(av)
(2) (a)-(1). (b)-(v). (c)-(11). (d)-(i11)
(3) (a)-(111). (b)-(11). (c)-(1v). (d)-(1)
(4) (a)-(v). (b)-(111). (c)-(1). (d)-(11)

Options:

6154753853 1
6154753854 2
£15475385E 2
6154753856, 4

Question Number : 64 Question Id : 615475990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 & g=i-11 ¥ gafem Fifso

SRl

(a) =T 9Y qRET

(b) w=AEHE

() M

(d) T dEa
(1) (a)-(1). (b)-(). (c)-(111). (d)-Gv)
(2) (2)-@). (b)-av). (c)-(1). (d)-(11)
(3) (a)-@11). (b)-(1). (c)-(v). (d)-()
(4) (a)-(v). (b)-(111). (c)-Q). (d)-(1)

Options:

E154753853. 1
E154753854 2
6154753855 3
E154753856. 4

11
i) 74 (Hz)
(1) =faed (db)

(iii) =3 T =am §4He (dyne/cm?)

(iv) FfEH FHE (em?)

Question Number : 65 Question Id : 615475991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the following assertions:

Assertion (I) : The whole trace, called a spectrogram. shows the acoustic spectrum

varying through time.

Assertion (II) : Such records are extremely valuable. particularly for the determination of

consonants rather than the vowels.

Choose the correct option :

(1) I 1s true and II 1s false
(2) Both I and II are true
(3) I is false and II 1s true

(4) Both I and II are false
Options:

E154753857. 1

6154753858 2

154753859 3

154753860 4

Question Number : 65 Question Id : 615475991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fferfigs wem ofeo .

sfFeE (D) - T HE] S FTe7 Grq0 o9 FTea § TRad e Wy w @i 2

srfrweE (1D 30 IFR & fwisd faviy w9 @ o i go ®§ =0 % FeRw § gogem 2 2

(1) (D a2 3 (1D 7o 2
(2) (D) 3Rk AD gA1 =& 2|
(3)  (I)7ea 2 3k (1) &&1 2|

(4) (D3R AD gHl T 2
Options:
L1547E285Y. 1
154753858 2
154753859 3
L15475E3EE0. 4

Question Number : 66 Question Id : 615475992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s the principle in structural phonology which states that any
sequence of phonemes will be represented by a unique sequence of phones, and vice—versa?

Choose the correct option :

(1) Linearity (2) Biuniqueness
(3) Invariance (4) Opacity
Options:

51547535861, 1
E154753862 2
E154753863. 3
E154753864. 4

Question Number : 66 Question Id : 615475992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F=ATcAS A fagm § =t § = fagm 2, ed «a ™ 2 & w@fs =1 =55 o 59, @ ==
1 fafire 0 wom os gl 1 afisld # awd 2

wdl faswen gho

(1)  ifgwa (2) 39T 3T
(3)  Irafad-r (4) 3TIREfRTT
Options:

E154753861. 1
E154753862. 2
E154753863. 3
E1547535864. 4

Question Number : 67 Question Id : 615475993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the term used i1n phonology to describe what happens when the
distinction between two phonemes 1s lost in a particular environment?

Choose the correct option :

(1) Neutralization (2) Elhsion
(3) Lenition (4) Truncation
Options:

E154753865. 1
E154753866. 2
E154753867. 3
51547535860, 4

Question Number : 67 Question Id : 615475993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
win fagm o Fafcfes © € 58 e &1 35w 5y - 2, <71 9 99 T 2 1% fedt ofee-fasm o
3 Wi & e 92 % <9 81 W F47 BT 2

Tl fameT FHo

1)  FfEwfiwm (2) Y
(3)  Trfefio @) =g
Options:

E154753865. 1
E154753866. 2
E154753867. 3
51547535860, 4

Question Number : 68 Question Id : 615475994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following i1z the major class feature that includes nasals. liquid. ghdes and
vowels?

(1) Approximant (2) Syllabic
(3) Sonorant (4) Obstruent
Options:

E154753586%9. 1
E154753870 2
E154753871. 3
BE154753872 4

Question Number : 68 Question Id : 615475994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fafafan 4 & s geg o sifioew 2, e ifew, o @A, e o o afmfoe €

(1) wf=wdm srfieam (2) TR
(3) wEW (4) ayAeh
Options:

E15475386%9. 1
E154753870 2
61547535871 3
E1547535872 4

Question Number : 69 Question Id : 615475995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Read the following assertions:

Assertion (I) : In Lexical phonology. morphological and phonological rules are brought

within a single framework.

Assertion (II) : Lexical phonology 1s based on the insight that much of phonology operates
together with the word formation rules in a non—cyclic fashion to define the

class of lexical items in a language.

Choose the correct option :

(1) Both I and II are false
(2) I 1= false and II 1s true
(3) I1s true and II 1s false

(4) Both I and II are true
Options:



E1547535873. 1
B154753874 2
B154753875 3
E1547535876. 4

Question Number : 69 Question Id : 615475995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fmferfign arfimem dfeu
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2|

e (1D : wTed] Tty a5 39 3Ta-us W a2 6 i @i faee wee o
Framae & 9 t-=fm w7 § & Far 2 9 " umr ° wedl ugl 1 wEr S
gftyrieg feam < 94|
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3 (D i QD Tem 2
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Options:

£154753873 1
6154753874 2
6154753875 2
6154753876, 4

Question Number : 70 Question Id : 615475996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Eead the following assertions:

Assertion (I) : Optimality theory views Universal Grammar as a set of only non-viclable

constraints.

Assertion (II) : Optimality theory wviews the grammars of specific languages as the

language particular ranking of those constraints.

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

I is false and II 1s true
Both I and II are false
Both I and II are true

I is true and II 1s false

BE1547535877. 1
E154753878 2
B154753879 3
6154752880, 4

Question Number : 70 Question Id : 615475996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frforfiaa wom +1 7feu

A (1) earal fign wedifis = # Faa W-AfowauiE areEaed & tE 9gey &

w9 o T 2|

e (1) : seanal Tagm fafsme uymmedl & = w33 Tenet $ G W & aw & =9

o 94T 2|
(1) (D) 7o 2 3k (1) &1 21
2 @)k AL AT 7o 2
(3) ()3 AD) gH1 =& 2|
4 (D) ad 2 37 3D Tom 21
Options:

E1547535877. 1
6154753878 2
E154753879. 3
E154753880. 4

Question Number : 71 Question Id : 615475997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The present-past tense relationship of ‘go-went’ 13 an example of:

(1) Portmanteau (2) Chities
(3) Suppletion (4) Unique morph
Options:

E154753881. 1
E154753882. 2
E154753883. 3
E154753884. 4

Question Number : 71 Question Id : 615475997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Go-Went' # a00H Hei-Yoaa d99 Hefofigs & € fhos sg@m g 7

1) =g @) I
(3)  Falem (4) Tafime =g
Options:

E154753881. 1
E154753882. 2
6154753883 3
E1547535884. 4

Question Number : 72 Question Id : 615475998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List — I with List — I1.

(a)

(b)

(c)

(d)

Which one of the following options 1s correct?

(1)
(2)
(3)
(4)

Options:

Last —1

Orthographic word

Grammatical word

Clitie

Portmanteau

()-@). (b)-(11). (¢)-(i11). (d)-Gv)
(a)-(1). (b)-G). (¢)-(iv). (d)-(1i1)
(a)-(11). (b)-(v). (c)-(). (d)-G1)
(2)-Gv). (b)-(111). (c)-(). (d)-@

E154753885. 1
E154753886. 2
E154753887. 3
5154753888, 4

List —II

defined by its place in a particular

paradigm

a unmit. which in print 1z bounded by

spaces on both sides

new lexeme formed from parts of two

or more lexemes

15 neither clearly a word nor clearly an

affix

Question Number : 72 Question Id : 615475998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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T
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(b) SATHIOTH e
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(d) =y
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(1) (2)-Q). (b)-@). (e)-(111). (d)-(Qv)
(2) (a)-(11), (b)-(1). (¢)-(1v). (d)-(111)
(3  (a)-(m). (b)-Gv). (e)-(1). (d)-(i1)
4)  (a)-Gv). (b)-(id). (c)-(1). (d)-(1)

Options:

6154753885 1
E154753886. 2
E154753887. 2
6154753888, 4

Question Number : 73 Question Id : 615475999 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)

(11)

(111)

(1)

gei-11
frdt w=gEeft fasm O e ™A M
qiTiyE

UF UFHE F GauT § SH @ fEd 0E
F 7 B

g 3an g1 | Alyw vfeqy & 39 ¥ 9=
FI1 IfFan

3 Tl TIea: I WeE 2 A E HiE g

MCQ Option Shuffling: No Display Question Number : Yes



Read the following statements carefully:

(a) In inflecting languages the focus i1s on characteristics of the word with words
displaying grammatical relationships morphologically and each word typically

containing more than one morpheme.
(b) Agglutinating languages typically contain a linear sequence of morphs.

(c) In analytic languages all the words are invariable and syntactic relations are shown

primarily by word order.

Choose the correct option:

(1) (a). (b) and (c) are correct
(2) (a) and (c) are correct. but (b) 1s wrong
(3) (b) 1s correct, but (a) and (c) are wrong

(4) (c) 1= correct, but (a) and (b) are wrong

Options:

6154753889 1
6154753890 2
6154753891, 3
£154753892 4

Question Number : 73 Question Id : 615475999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b)  TEH-TUH UNIST O SR G- W w99 &7 e %A amafdse a7 2|

(c)  Taverwmems wmadi § vyt wieg s1faret 2 @ aeg-fogw 999 ggEa: veowA & AT §
Sy

wdl fawer ghu

1 (a), () K (o) & &|

2 (a) 37 (o) & 2, g (b) Temm 2
3 ()T 2 fF () 3R (o) o 2|
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Options:

6154753889 1
£1547538390. 2
£154753891. 2
6154753892, 4

Question Number : 74 Question Id : 6154751000 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the following assertions :

Assertion (I) : The item-and-arrangement model deals with operations that see the

relationships between word forms as one of replacement.

Assertion (II) : The item and process model studies the distribution of morphemes and

morphemic variants ocecurring in words.

Choose the correct option :

(1) Both (I) and (II) are correct
(2) Both (I) and (II) are incorrect
(3) Only (I) 1s correct and (II) i1s not

(4) Only (II) 18 correct and (I) i1s not

Options:

6154753893 1
£154753894 2
£154753895 2
6154753896, 4

Question Number : 74 Question Id : 6154751000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fafafaa it =i gfeu .
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Options:



E154753893. 1
61547535894 2
6154753885 3
E154753836. 4

Question Number : 75 Question Id : 6154751001 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Read the following assertions:

Assertion (I) : In English all inflectional affixes are suffixes whereas derivational affixes
are either suffixes or prefixes.

Assertion (II) :  All inflectional affixes in Enghsh are native whereas all derivational
affixes are not so.

Choose the correct option :

(1) Both (I) and (II) are correct

(2) Both (I) and (II) are incorrect
(3) Only (I) 1s correct and (II) 1s not
(4) Only (II) 18 correct and (I) 1s not

Options:

61547538497 1
6154753898 2
6154753899 2
6154753900, 4

Question Number : 75 Question Id : 6154751001 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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TE 21

9 el & 91 4§ wE fasey ghw

(1) (D) 3" (D) 2 =& &)
(2 (D) 3R (I0) gH 7Ted 3
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(4)  %Fd (1D wEl @ (D) wEl A2 R

Options:
6154753897 1



E154753898. 2
515475358959 3
5154753300, 4

Question Number : 76 Question Id : 6154751002 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Those alternations which are conditioned by segments occurring across a word boundary are

called:

(1) Regular levelling (2) Irregular levelling
(3) External Sandhi (4) Internal Sandhi
Options:

61547533011
61547533902 2
E154753303. 3
E154753304, 4

Question Number : 76 Question Id : 6154751002 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

td uftgd f wreg Himadi § @1 g whadfaa fe san 2, 298 @ w=r <7 ot 2

(1) Fafra w-fmo (2) sAtEirE = o
(3)  TEg =Y (4) IFvgmEi w5y
Options:

£154753301. 1
61547533902 2
E1547533903. 3
E154753304, 4

Question Number : 77 Question Id : 6154751003 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A combination of parts of two pre-existing forms 1s called

(1) Compound (2) Derivation
(3) Chipping (4) Blend
Options:

E1547533905. 1
6154753306 2
61547533907 3
E154753308. 4

Question Number : 77 Question Id : 6154751003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) ug 2) =geah
(3)  &aH (4) fozrsree
Options:

E1547533905. 1
E154753306 2
6154753307 3
6154753308 4

Question Number : 78 Question Id : 6154751004 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following 1s the type of word formation where a shorter word 1s derived by

deleting an imagined affix from an existing longer form of the word in a language?

(1) Conversion (2) Back formation
(3) Clipping (4) Blocking
Options:

5154753305 1
61547533910 2
E1547533911. 3
E1547533912 4

Question Number : 78 Question Id : 6154751004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

5154753305 1
61547533910 2
E1547533911. 3
E1547533912 4

Question Number : 79 Question Id : 6154751005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The concept of ‘blocking” which may be due to the prior existence of another word with the

meaning that the putative word would have was proposed by

(1) Mark Aronoff (2) P.H. Matthews
(3) E.O. Selkirk (4) Francis Katamba
Options:

£1547533913. 1
E1547533914 2
E1547533915 3
E1547533916. 4

Question Number : 79 Question Id : 6154751005 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
sty S g ° faeam o veg % 39 faania wee % sifyu & |1y fofya g % R R 2, A
YT 1 yere Fefatea § 9 s g e mn oy

(1) AT WEE (2) =, A
(3) T 3. Heweh (4) Wiy FHerE
Options:

E1547533913. 1
61547533914 2
61547533915 3
E154753316. 4

Question Number : 80 Question Id : 6154751006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Read the following assertions:

Assertion (I) : Syntactically speaking, passivisation must apply before causativisation.

Assertion (II) : Causative increases the valency of a verb, allowing 1t to take a fresh NP

with a new & —role as its argument.

Choose the correct option :

(1) Both (I) and (II) are correct
(2) Both (I) and (II) are incorrect
(3) Only (I) 12 correct and (II) 1= not

(4) Only (II) 18 correct and (I) 1= not
Options:



E1547533917. 1
61547533918 2
515475339159 3
6154753920 4

Question Number : 80 Question Id : 6154751006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154753917 1
£154753918. 2
5154753919 2
154753920, 4

Question Number : 81 Question Id : 6154751007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following sentences 1s a small clause present?
(1) The vase broke

(2) Sudha believes Ramesh to be a fool

(3) Ramesh likes Sudha teacher more

(4) Ramesh feels that Sudha 1s sick

Options:
6154753921 1



E154753922 2
B154r53923 3
B154r53924, 4

Question Number : 81 Question Id : 6154751007 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

feiferd | & foFm avem 0 U @Y I9-ar 27

(1) R g ™

(2)  H Y FI ASHS HEH 2
(3) I H g1 = wfas g B
(4y W Fi o 2 6 gan Fmw 2

Options:

6154753921 1
6154753922 2
£154753923 2
6154753924 4

Question Number : 82 Question Id : 6154751008 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the X—bar schema, the sentence 'who do you think 1s sad’ appropriately begins from :

(1) C double bar (CP) (2) 1double bar (IP)
(3) V double bar (VP) (4) N double bar (NP)
Options:

6154753925 1
E1547533926 2
E154753927. 3
E154753928. 4

Question Number : 82 Question Id : 6154751008 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Xt faaefor §, o “@F 39 H@ed 8 32m 27, gyfad w9 3 w8 8 uey g 22

(1)  C=rf &= (CP) (2) 1= @ (IP)
(3) VIER @ (VP) (4) N 2Ef = (NP)
Options:

BE154753925 1
6154753926 2
6154753927 3
6154753928 4



Question Number : 83 Question Id : 6154751009 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In the sentence 'John hit Bill on the neck in the garden this morning', the number of adjunct
phrase(s) 1s/are:

(1) Zero |
(3) 2 (4 3
Options:

515475392591
61547533930 2
6154753931 3
E154753932. 4

Question Number : 83 Question Id : 6154751009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g A A A1 gag faa w @i 1@ 18w, 4 favms ggadi i 9@ Had 2

(1) 94 2 1
(3) 2 (4 3
Options:

E1547539259. 1
61547533930 2
6154753931 3
E1547533932. 4

Question Number : 84 Question Id : 6154751010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the following assertions :

Assertion (I) : Open classes can accommodate addition of new members, as the
vocabulary of the language adapts itself to the changing needs of the

speaker.

Assertion (II) : Closed class items are resistant to addition of new members, but an

addition of a new member to this class 1s not impossible.

Choose the correct option :

(1) I 1= false and II 1s true
(2) I 1= true and II 1s false
(3) Both I and II are true

(4) Both I and II are false
Options:

1547539251

£154753924 2

E154753935 3

154753906, 4

Question Number : 84 Question Id : 6154751010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547533933 1
6154753934 2
61547539355 3
E154753936. 4

Question Number : 85 Question Id : 6154751011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List — I with List — II

()
(b)
(c)
(d)

Whach of the following combinations 1s correct?

(1)
(2)
(3)
(4)

Options:

List — 1
Endocentric construction
Directive construction
Attributive construction

Existential construction

(a)-G1). (b)-@). (c)-Gv). (d)-(ii1)
(@)-Gv). (b)-Q). (c)-G1). (d)-(i1)
(@)-@). (b)-(). (c)-(11). (d)-(v)
(a)-(11). (b)-Gv). (¢)-(). (d)-(1)

E154753937. 1
B1547533938. 2
515475339359 3
6154753340 4

@
(11)
(111)
@av)

List — II
on the table
The huge cake
There are three boys 1n this room

Seemed angry

Question Number : 85 Question Id : 6154751011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 = g=hi-11 & gafoa =1
-1 11

(a) 3I0: Figeh =T Q) TIW

(b) Tresmens = G) T ss

(c) EETNH: =1 (ii) 3@ W ° o7 vizH 8
(d)  srfeqeaT (v) it i g

Freifen @ w9 € R wd 2 7

(1) (a)-Gi). (b)-Q). (¢)-(v), (d)-(11)
2)  (a)-v). (b)-(2). (¢)-(11). (d)-(ai1)
(3)  (a)-Q). (b)-(11). ()-(id). (d)-(iv)
4)  (2)-Gi). (b)-Gv). (©-O). (d)-{)

Options:

6154753937 1
£154753938 2
6154753929, 2
5154753940, 4

Question Number : 86 Question Id : 6154751012 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the following statements with regard to Copy Theory of Movement :

(1) When a constituent moves, 1t leaves a copy of i1tself
(11) A chain consists of multiple copies of moved constituent
(1) Copy Theory replaces Binding Theory of GB

(1v) In the Minimalhist Program copyving 1s the device for handling movement.

Choose the correct option:

(1) Only (1). (1) and (111) are correct
(2) Only (1), (11) and (1v) are correct
(3) Only (11), (111) and (1v) are correct

(4) Only (1), (111) and (1v) are correct
Options:

15475359411

154753942 2

154753942 2

154752944 4

Question Number : 86 Question Id : 6154751012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



frfirfian womi 2 doom ¥ smads fagin % wa § T

(1) 59 iz FIEH TOIH FG1 2 Tl 98 T IT0 sigal 2

Gi) Tl Zmen § H=fo 99 & 93 gad wiHd 2 2

(i)  3Fdq fag i = % sgae fage + shienfie w21

(iv)  3ToIqHdT HEEHA § a0 gaeH vaeT 61 g 2|

wdl fomes =4

(1) & ). (i) 31 (idd) =& 2|
(2) T ). (i) 3R (iv) ¥ 2|
(3) &% (id). (iid) 3R Gv) =& 2|

(4) T (). (i) 3R [Qv) =&l 2|

Options:

£154753941 1
6154753942 2
6154753943 2
6154753944 4

Question Number : 87 Question Id : 6154751013 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A procedure in Minimalist Program which determines whether a lexical element has the
appropriate features, before 1t 1s used 1n a position in sentence structure 1s called :

(1) Movement (2) Greed
(3) Checking (4) Last resort
Options:

61547533945 1
E154753946 2
B1547533947 3
51547533948 4

Question Number : 87 Question Id : 6154751013 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



IeIAHAT HEHT & 98 wla, St 7z Fuife w2 F 9w = § FE e wowgsw i 8 @ =
forft wmedt aea F g srfiean 2, #=0 s 2|

()  &=ed ) e
(3 = @) i s
Options:

£154753345 1
E1547533946, 2
E1547533947 3
51547533948 4

Question Number : 88 Question Id : 6154751014 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Read the following assertions:

Assertion (I) : Strong features are those which., when introduced into derivation. trigger
movement.

Assertion (II) : Weak features, on the other hand. can wait until spelt out .

Choose the correct option :

(1) Both I and II are correct
(2) I 1s correct and II 1s false
(3) I 1s false and II 1s correct

(4) Both I and II are false
Options:

1547539439 1

£154752350, 2

6154753951 2

61547533952 4

Question Number : 88 Question Id : 6154751014 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



I el

Fafefigs arfasmemt =i 7e

st (D) -

AR (1)

51 aHl & |afdd 98l I g
1) (@) 3k 1) = &2 2
2 @@ g, A w2 73 2
(3) @) &1 721 2, (A1) ¥&1 3|
(4) (D) 37t (1) =1 |el &1 2|
Options:

6154753949 1
E1547533950 2
E1547533951. 3
51547533952 4
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Question Number : 89 Question Id : 6154751015 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct M
Match

(a)

(b)

(c)

(d)

arks: 2 WrongMarks: 0

the following:

Greed @)
Procrastinate (11)
Spell out (111)
Last resort (1v)

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

(a)-G1). (b)-(D). (c)-(111), (d)-(iv)
(@)-@). (b)-(G11). (c)-(11), (d)-(iv)
()-@). (b)-Gv). (c)-(11), (d)-(i1)
(2)-Gv). (b)-(). (c)-(1). (d)-(111)

E1547533953. 1

Movement only if it satisfies the requirement of the
moved element.

Syntactic operation applicable only when other
options are prohibited.
Operation which distinguishes the phonetic

representation within a structural description from
other kinds of information. and motivates distinction

between PF and LF.

All movements in a derivation should be delayved as
long as possible.



E1547533954 2
51547533955 3
51547533956, 4

Question Number : 89 Question Id : 6154751015 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FifeRa =1 gafom Hifew .
(a) = (i)
(b) Uikl (i1)
(c) Fid 18e (iid)
(dy wfam U™ (iv)
wal fawes =4 ¢
(1) (a)-(i1), (b)-(). (c)-(ii). (d)-Gv)
(2) (a)-(1). (b)-(ii1). (c)-(i). (d)-Gv)
(3) (a)-(1). (b)-(v). (c)-(il). (d)-(E1)
(4) (a)-(1v), (b)-(). (c)-(1). (d)-(ii1)
Options:

51547533953 1
6154753954 2
6154753955 3
E1547538956. 4

aford Tea w1 STEvIHAT Ifd 1 <E F & FEer
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Question Number : 90 Question Id : 6154751016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is the correct chronological order of Chomsky's publications (First
Edition’s)
(1) Syntactic Structures, Lectures on Government and Binding, Language and Mind,

Minimalist Program

(2) Minimalist Program, Syntactic Structures, Lectures on Government and Binding,

Language and Mind

(3) Syntactic Structures, Language and Mnd, Mnimalist Program, Lectures on

Government and Binding

(4) Syntactic Structures, Language and Mind, Lectures on Government and Binding,

Minimalist Program
Options:
61547539571
154753958 2
£154753959 2
154753980 4

Question Number : 90 Question Id : 6154751016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

faiferd § © ®-31 59 Il il qEAl (YW HEHRT) ) HEl %Y B 7
(1)  Ta2feesw a9, 798 34 a9 €S sIs157, oS Us HI5S, (Hiaicie M
(2 Tafafeee gigm, f@faes waad, dFad 319 Ta4He Us Si51s7, s Us A5
(3)  T@efFes &F9d, ol Us Hi5s, MiAIE TIaT™, @998 Hid Ta4He U5 qE1sT
(4)  T9efFes &F9d, o7 Us HI5S, oITad 34 Ta+He US &51s7, Miaice 9w

Options:

6154753957, 1

6154753958, 2

515475339559 3
E1547533960. 4

Question Number : 91 Question Id : 6154751017 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The relation of mutual exclusion between sister taxonymies 1s called :

(1) Taxonomic hierarchy (2) Hyponymy

(3) Lexical hierarchy (4) Co—taxonyvmy
Options:



E154753961. 1
61547533962 2
E1547533963. 3
61547533964 4

Question Number : 91 Question Id : 6154751017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

oz affha & TeIE aigsRu 999 & Heffag § 8@ 921 |93 < 91 27

(1)  =fi$m arfasn (2) I
(3)  wIedr IAfesRy (4) we-Tfrh
Options:

E1547533961. 1
E1547533962. 2
B1547533963. 3
E154753964, 4

Question Number : 92 Question Id : 6154751018 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Matech List — I with List —IT :

List —1I List —II
(a) Statement (1)  Imperative Sentences
(b) Questioning (11) Phatic construction
(¢) Greeting (111) Interrogative sentences
(d) Order (1v) Declarative sentences

Which one of the following combinations 1s correct?

(1) (a)-(1). (b)-(11). (¢)-(um1). (d)-(v)
(2) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(3) (a)-(11). (b)-(av). (e)-(1). (d)-(11)
(4) (a)-(11). (b)-(m11). (c)-(1v). (d)-(2)
Options:

6154753965, 1

6154753966, 2

6154753967, 3

6154753963, 4

Question Number : 92 Question Id : 6154751018 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gi-1 =1 gei-11 & gafem Fie
g1 gAI-II

(a) =I 1)  3EEdw a9

(b) SEEREET (i) FHEE Ifaq

(c) HAfEme (i) YIIITEE T

(d) 3mem (v) THesm amg
frfoifias 4 @ =17 o gfd wdi 27

(1) (a)-@). (b)-@), (¢)-(id). (d)-Gv)
(2)  (a)-Gv). (b)-(11). (c)-(1). (d)-()
(3)  (@-Gib). (b)-Gv). (0)-M. (d)-(1)
4 (a)-G1). (b)-Gi1). (c)-(v). (d)-Q)

Options:

6154753965 1
6154753966, 2
6154753967, 3
154753968 4

Question Number : 93 Question Id : 6154751019 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A semantic anomaly where some aspect of meaning is felt to be unnecessarily duplicated 1s
termed as

(1) Hyperbole (2) Intensifier
(3) Lexical decomposition (4) Pleonasm
Options:

E154753969. 1
61547533970 2
6154753971 3
E154753972 4

Question Number : 93 Question Id : 6154751019 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
i fogerfa <ier srfum & Tt 78 =+t smTeves w9 @ o gugn <A 2, 39 98 Fi #9793 a4 <)
&l

1) sl @) T
(3)  ¥edl {9HE 4) weEaEE
Options:

E154753396%9. 1



E1547533970 2
61547533971 3
B1547533972 4

Question Number : 94 Question Id : 6154751020 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List — I with Last —I1

List—1I Liat —II
(a) Spatial deixis (1) Iwill come
(b) Temporal deixis (11) Then I spoke to her
(c) Person deixis (111) Come fast
(d) Discourse deixis (iv) See you tomorrow

Choose the correct option :

(1) (a)-G). (b)-(). (¢)-(111), (d)-(iv)
(2)  (a)-Gid). (b)-Gv). (c)-(). (d)-(11)
(3)  (a)-Q1), (b)-Gi1). (c)-Gv). (d)-()
4)  (@)-@). (b)-(i1). (e)-Gb. (d)-(Gv)

Options:

£154753973 1
£154753974 2
6154753975 2
6154753976, 4

Question Number : 94 Question Id : 6154751020 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 31l g=f-11 =1 gafem Hifem

g1 g 1T

(a) TUTHS FHomr @ @

(b) GmEETy Hew (1) ae9TEE H4 39 FE
(c) dafFds Hem (i) s & amed

(d) ifed FHem (v) e foe

(1) (@)-0), (b)-(). (¢)-(i1), (d)-(v)
(2)  (a)-Gii). (b)-Gv). (0)-Q). (d)-(11)
(3)  (@-G1). (b)-Gi1). (0)-(v). (d)-G)
4 (a)-0). (b)-(1). (c)-(11). (d)-(v)

Options:

6154753973 1
6154753974 2
6154753975 3
£154753976 4

Question Number : 95 Question Id : 6154751021 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Read the following Assertions:

Assertion (I) : Contradiction 1= intimately linked to entaillment .

Assertion (II) : Situation described by “A” cannot be described by “B”.

Choose the correct option:

(1) Both I and II are true
(2) Both I and II are false
(3) I 1s true and II 1s false

(4) I 1s false and II 1s true
Options:



BE154753977. 1
61547533978 2
61547539759 3
61547533980 4

Question Number : 95 Question Id : 6154751021 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ffeitaa srfimeei =1 gfeu
At () - &g el § gfse ¥ ¥ ¥4 2
st (1D ‘agE ==fdq grT afvta et 1 e s =afE gy T8 5 gl 2|

P ia i
gl [EFded IHT

) @ 3R AD) &H w2

2 (DR AD AT T 2|
(3 (D =d 2 g 1D Tem 21
4 (D7 3 g A w4 2

Options:
61547539771

E154753978 2
61547539759 3
51547533980, 4

Question Number : 96 Question Id : 6154751022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“Colorless green 1deas sleep furiously” 1s an example of

(1) Ambiguity (2) Vagueness
(3) Scope ambiguity (4) Semantic Anomaly
Options:

515475339811
6154753982 2
E1547533983. 3
E154753984. 4

Question Number : 96 Question Id : 6154751022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3=l 998 - Colorless green 1deas sleep f'hu"lc:ru.:ahsrH Frfefag 4 @ feas sem 27

(1)  wfcrgmear (2)  3TETSE
(3)  =ifea wigram=war 4) aeff fonfa

Options:
61547539511

E154753982. 2
E154753983. 3
5154753984, 4

Question Number : 97 Question Id : 6154751023 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Definite referring expressions are known as

(1) Denctation (2) Connotation
(3) Deictic expression (4) Default expression
Options:

E154753985. 1
E154753986. 2
E154753987. 3
E1547533988. 4

Question Number : 97 Question Id : 6154751023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frveraregss Wefta “sifvsafaai #1 Fefafaa 9 1 = w= & o 2

(1) HfEE (2) wgFY
(3  fEsh sfisafdm (4) =afasn wfirsafa
Options:

E1547533985. 1
E154753986. 2
E154753987. 3
E1547533988. 4

Question Number : 98 Question Id : 6154751024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When one term of a binary opposition 1s described as ‘positive’ and the other as ‘negative’,

it 1s called

(1) Polarity (2) Plesionymy

(3) Synonymy (4) Pollyanna principle



Options:

61547539589 1
£154753990. 2
5154753991 2
6154753992, 4

Question Number : 98 Question Id : 6154751024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e foeiim & o vg # = s AR wmRe | 3 gEdl AR Pigens % w9 6 o 9 2

(1)  geEE I CEX HEL
(3)  guEREa (4) FgETcoEal fagm
Options:

E154753989. 1
6154753980 2
E154753931. 3
6154753992 4

Question Number : 99 Question Id : 6154751025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If two meanings are associated with the same written and spoken forms, they are called

(1) Homographs (2) Homophones
(3) Homonyms (4) Hyponyms
Options:

E1547539593. 1
B154753994 2
5154753985 3
E154753936. 4

Question Number : 99 Question Id : 6154751025 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

£

(1) Heed (2) #HYE=EH
(3) HY41TH (4) A99M
Options:

5154753953 1
6154753994 2
£154753935 3
E154753956, 4



Question Number : 100 Question Id : 6154751026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The word ‘mouse’ in computer vocabulary 1s an example of

(1) Pejoration (2) Semantic drft
(3) Default meaning (4) Metonymic extension
Options:

E154753997. 1
E154753998. 2
B1547539959 3
G154754000, 4

Question Number : 100 Question 1d : 6154751026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FeX 0 A8 I1eg g 4 € fhEwT Sam 2

1) T @ f= yaf
(3)  =AfiH JIWE (4) STEEiE FEm
Options:

51547539571
6154753938 2
E154753939 3
E154754000, 4

Question Number : 101 Question Id : 6154751027 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following describes the change in which the sound that undergoes the change

comes earlier in the word than the sound which conditions the assimilation?

(1) Partial (2) Contact
(3) Progressive (4) Regressive
Options:

E154754001. 1
6154754002 2
6154754003, 3
6154754004, 4

Question Number : 101 Question Id : 6154751027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) = (2) ¥
(3) a7 (4)  wifaard
Options:

E154754001. 1
5154754002 2
6154754003, 3
6154754004, 4

Question Number : 102 Question Id : 6154751028 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following laws, describes for Sanskrit and Greek, the process by which the first

of the two stops within a word becomes deaspirated?

(1) Grimm’s Law (2) Verner's Law
(3) Grassmann’s Law (4) Sociolinguistic change
Options:

E154754005, 1
E154754006 2
6154754007 3
E154754008. 4

Question Number : 102 Question 1d : 6154751028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frifea § & Flh-w fFag 9w ok 0 % fom 39 whear i =me #=xar 2 e g s weg & Jiae
% o fouml § ¥ vgen STeaumiiga gl =T 2 7

()  fim = fEm (2) o1 % FEm
(3)  ymEda w1 F9m @) T s giEda
Options:

E154754005, 1
E154754006 2
6154754007 3
E154754008. 4

Question Number : 103 Question Id : 6154751029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the following assertions:

Assertion (I) : Some sound changes take place in a language at an earlier stage and then
become deactivated whereas some others take place at some later stage in
the history of the language.

Assertion (II): Part of working out the phonological history of a language 1s determining
the relative chronology of the changes which thev have affected the
language.

Choose the correct option :

(1) Both I and II are correct

(2) Both I and II are 1incorrect
(3) Only I 15 correct and II 1s not
(4) Only II 1s correct and I 1s not

Options:

6154754009 1
6154754010, 2
6154754011, 3
6154754012 4

Question Number : 103 Question Id : 6154751029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFferfgs srfiweat =t 9% .
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Options:

6154754009 1
5154754010, 2
6154754011, 2
5154754012, 4

Question Number : 104 Question Id : 6154751030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following describes a change 1in the meaning of a word that includes additional
senses that were not originally present but are closely associated with the original?

(1) Metonymy (2) Metaphor
(3) Degeneration (4) Elevation
Options:

51547540121
6154754014 2
6154754015 3
E154754016. 4

Question Number : 104 Question Id : 6154751030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  39=Em (2) ®9F
(3) Tre-gwA (4) e
Options:

61547540131
6154754014 2
6154754015 3
E154754016. 4

Question Number : 105 Question Id : 6154751031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is the third mechanism of syntactic change besides reanalysis and
extension?

(1) Cohesion (2) Borrowing
(3) Reconstruction (4) Constituency
Options:

51547540171
6154754018 2
6154754019 3
6154754020, 4

Question Number : 105 Question Id : 6154751031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT 3R THR % ST YIS IRady s e § € S @ qdE Gearatg 27

(1) 9= (2) 37EH (31mT)
(3)  gH= (4) weHhET &4
Options:

E154754017. 1



E154754018. 2
61547540159 3
6154754020, 4

Question Number : 106 Question Id : 6154751032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Read the following assertions:

Assertion (I) : A procedure that takes outside languages into account for reconstruction 1s
called internal reconstruction.

Assertion (II) : When forms of two or more related languages are contrasted to determine
their earlier forms, 1t 1s called comparative reconstruction.

Choose the correct option :

(1) Both I and II are correct

(2) Both I and II are incorrect
(3) Only I 1s correct and II 1s not
(4) Only II 1s correct and I 1s not

Options:

6154754021 1
6154754022 2
6154754023 2
6154754024 4

Question Number : 106 Question Id : 6154751032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
6154754021 1
6154754022 2



E154754023 3
B154r54024, 4

Question Number : 107 Question Id : 6154751033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following laws correctly describes the phonological change in the first sound of
the semantically related. words father’ and ‘paternal’?

(1) Verner's Law (2) Grassmann’s Law
(3) Grimm’s Law (4) Lachman's Law
Options:

E154754025 1
E154754026 2
6154754027 3
6154754025 4

Question Number : 107 Question Id : 6154751033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fifRa 4 @ &iF-w1 Fem afddm w7 € gafdg weg oo ofh 9% & yom w1 § @S iEd #
&1 =TT AT B 7

(1) 99 % Ham (2) T =1
(3  fom = Fem @) ST = FEm
Options:

6154754025 1
E154754026, 2
E154754027. 3
5154754028, 4

Question Number : 108 Question Id : 6154751034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Read the following assertions:

Assertion (I) : Lexical borrowing on a massive scale does not lead to a change 1n the
genetic affiliation of the borrowing language.

Assertion (II) : While borrowing if borrowed words are integrated into the structure of the
borrowing language, it 1s called adaptation.

Choose the correct option :

(1) Both I and II are correct
(2) Both I and II are incorrect
(3) Only I 1s correct and II 1s not

(4) Only II 1s correct and I 1s not
Options:



E1547540239 1
6154754020 2
6154754021 3
6154754032 4

Question Number : 108 Question Id : 6154751034 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fforfigs srfyerert =1 7%
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Options:

6154754029,
6154754020,
6154754021,
E154754022

L I

Question Number : 109 Question Id : 6154751035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s the motivation for an Indian’s use of the English word ‘wife’

instead of the native language word?

(1) Need (2) Prestige
(3) Adoption (4) Adaptation
Options:

6154754032 1
E1547540234 2
E154754035 3
5154754036, 4

Question Number : 109 Question Id : 6154751035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E154754033. 1
6154754034 2
E154754035 3
E154754036, 4

Question Number : 110 Question Id : 6154751036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
That area which lies bevond the extent of expanding isoglosses and are generally found 1n

locations that are difficult to access for cultural, political. or geographic reasons 1s known as

(1) Focal area (2) Relic area
(3) Transition area (4) Lingulstic area
Options:

E154754037. 1
6154754038, 2
51547540359 3
6154754040, 4

Question Number : 110 Question Id : 6154751036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E154754037. 1
6154754038, 2
6154754039 3
6154754040, 4

Question Number : 111 Question Id : 6154751037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Read the following assertions:

Assertion (I) : The ancient Indian phoneticians accurately observed that there were five
nasal stops [m.n. 7.7 :}:}}

Assertion (II) :  Although five alphabetic symbols were duly provided, however, these were
not functional.

Choose the correct option about the two:

(1) Both I and II are correct
(2) Both I and II are incorrect

(3) I 1s correct but II 1s incorrect
(4) I 1s incorrect but II 1s correct
Options:

5154754041 1
6154754047 2
6154754042 3
6154754044 4

Question Number : 111 Question Id : 6154751037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154754041 1
6154754042 2
6154754043 3
6154754044 4

Question Number : 112 Question Id : 6154751038 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following correctly describes typically the large inventories of NIA languages?

(1) Initial clusters (2) Medial clusters
(3) Final clusters (4) Geminations
Options:

6154754045 1
6154754045 2
E154754047 3
E154754048. 4

Question Number : 112 Question Id : 6154751038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafefiga 4 8 fed NIA wmieti &1 985 qifcieT =i 9e1 =3mea 1 78 2

(1) IR =8 (2) TEIH T=8
(3)  3foH T=8 @) fg=
Options:

6154754045 1
E15475404E 2
E154754047 3
5154754045, 4

Question Number : 113 Question Id ;: 6154751039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who 1s the author of the book Defining a Linguistic Area: South Asia?

(1) Colin P. Masica (2) Bernard Comrie
(3) Joseph H. Greenberg (4) Murray B. Emeneau
Options:

E154754045 1
6154754050 2
6154754051, 3
6154754052, 4

Question Number : 113 Question Id : 6154751039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154754045 1
6154754050 2
6154754051, 3



E154754052. 4

Question Number : 114 Question Id : 6154751040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Read the following assertions :

Assertion (I) : The second werb of the explicator compound wverb 1s semantically
delexcalised.
Assertion (II) :  It. however., plays an important role in explicating the meaning of the

polar verb
Choose the correct option :

(1) Both I and II are correct
(2) Both I and II are wrong

(3) I 1s correct but II 1s wrong
(4) I 1s wrong but II 1s correct
Options:

5154754053 1
6154754054 2
6154754055 3
E154754056, 4

Question Number : 114 Question Id : 6154751040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frfafiaa sifyremt #i1 afeu :
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Options:

6154754053 1
6154754054 2
6154754055, 2
5154754056, 4

Question Number : 115 Question Id : 6154751041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
“Burushaski” 1s a language 1solate spoken 1n

(1) South India (2) Galgat-Baltistan
(3) West India (4) East India
Options:

51547540571
6154754058 2
£154754059 3
6154754080, 4

Question Number : 115 Question Id : 6154751041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ve R © wal #1 guE a2

(1)  =feo vra (2) Trefe affemm
(3)  ufv=m vwa (4) 99 9Rd
Options:

6154754057 1
E154754058. 2
E1547540539 3
5154754080, 4

Question Number : 116 Question Id ;: 6154751042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Read the following assertions:

Assertion (I) : The language name ‘Santhali’ 1s derived from the ethnic name ‘Santhal’

Assertion (II) : The Santhals themselves call their language “hor™.
Choose the correct option :

(1) Both I and II are true
(2) Both I and II are false
(3) I 1s true but II 1s false

(4) I 1s false but II 1s true
Options:

61547540611

154754062 2

6154754062 3

154754064 4

Question Number : 116 Question Id : 6154751042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154754061 1
6154754062, 2
6154754063 3
6154754064 4

Question Number : 117 Question Id : 6154751043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which following group Kurukh, Malto. Brahu languages belong to?

(1) Southern group of Dravidian languages
(2) Central group of Dravidian languages
(3) South-Central group of Dravidian languages

(4) Northern group of Dravidian Languages
Options:

6154754065 1

154754066 2

154754067 3

154754068, 4

Question Number : 117 Question Id : 6154751043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E154754065. 1
6154754086, 2
6154754087, 3
6154754068, 4

Question Number : 118 Question Id : 6154751044 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Whaich of the following language families does Nagamese belong to?

(1) Tibeto-Burman (2) Dravidian
(3) Indo-Aryan (4) Austro-Asiatic
Options:

6154754069 1
6154754070 2
E154754071. 3
E154754072 4

Question Number : 118 Question Id : 6154751044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547540859 1

E154754070 2
E154754071 3
B154r54072 4

Question Number : 119 Question Id ;: 6154751045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“The concept of Implicational Universals’ was introduced by

(1) M.B. Emeneau (2) J.H. Greenberg
(3) Noam Chomsky (4) Hawlkins
Options:

E154754073 1
6154754074 2
6154754075 3
6154754076, 4

Question Number : 119 Question Id : 6154751045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154754073 1
E154754074 2
E154754075 3
B154754076. 4

Question Number : 120 Question Id : 6154751046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The formal elements that are universally present in grammars are called:

(1) Absolute Universals (2) Substantive Universals
(3) Imphcational Universals (4) Non-Implicational Universals
Options:

B154754077. 1
6154754078 2
6154754079 3
E154754080, 4

Question Number : 120 Question Id : 6154751046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B154754077. 1
6154754078 2
E1547540739 3
E154754080. 4

Question Number : 121 Question Id : 6154751047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the List A and List B :

List A List B
(a) Loss of language as a symbolic system of (1) Dysarthna
communication
(b) Disorder of motor execution of speech (11) Apraxia

(c) Disorder of motor programming of (1) Aphasia
articulatory movements

(d) Disorder of grapheme to phoneme (v) Dyslexia
conversion route while learning to read

Choose the correct options:

(1) (a)-(w). (b)-Gi1). (c)-(i). (d)-G)
2)  (a)-(). (0)-Q). (0)-(i11). (d)-Gv)
(3)  (a)-Q). (b)-G2). (c)-Gi1). (d)-Gv)
4 (a)-(). (b)-Q). (c)-Gi). (d)-Gv)

Options:

6154754081 1
6154754082, 2
6154754083 3
£154754034. 4

Question Number : 121 Question 1d : 6154751047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) (@-Gw). (b)-G1). (c)-Gi). (d)-G)
2)  (a)-@). (b)-Q). (c)-(id). (d)-Gv)
(3 (@-Q). (b)-(). ()-(id). (d)-Gv)
@  (a)-Gi). (b)-@). (0)-Gi). (d)-Gv)

Options:

61547540381, 1
6154754082, 2
£1547540832 2



E154754084. 4

Question Number : 122 Question Id : 6154751048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Studies on CDS are based on the data which come from

(1) What adults and children speak to each other
(2) What children speak to adults
(3) What children speak to children

(4) What adults speak to children
Options:

6154754055 1

61547540806 2

6154754057 2

51547540855 4

Question Number : 122 Question 1d : 6154751048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

5154754085 1
6154754086, 2
6154754087, 3
£154754088. 4

Question Number : 123 Question Id : 6154751049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Brown's 1973 study shows that

(1) Children acquire morphemes 1n a similar order but with different rates of acquisition
(2) Children acquire morphemes at a similar rate but in different order of acquisition

(3) Children acquire morphemes at a similar rate and in similar order

(4) Children acquire morphemes at different rates and in different order

Options:

61547540859, 1
E154754000 2
E154754091 3
6154754082, 4

Question Number : 123 Question Id : 6154751049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
37 & 1973 & 372997 @ 971 Joal 2 T+

(1) 7 UF 999 #H § BE SEET Fa 7 g 395 e &1 g b= g 2|

(2) T UF 99E @ W w6E F i w1 2 g silhwem w1 w9 g 2
(3) T UH WA o IR HIGyd FHH § weE & mEn w2
(4) T -3 5L § BU9 &1 GUET wid 2 W FH %0 9 2T 2

Options:

6154754029 1
£154754090, 2
6154754091, 2
6154754092, 4

Question Number : 124 Question Id : 6154751050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Following concepts have been introduced at different times 1n language teaching :

(a) Task based approaches to language teaching
(b) Communicative language teaching
(c) Contrastive studies

(d) Direct methods

Which of the following chronological order 1s correct?

1) (@.(b).(c).(d)
2)  (e).(d).(a).(b)
3  (b).(0).(d).()
4)  (d).(e).(a).(b)

Options:

6154754093 1
6154754094 2
6154754095 3
6154754096, 4

Question Number : 124 Question Id : 6154751050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F=fafgs sraawomat & fafis g = v fgo 3§ o gan 2
(a) T frEr & = meTRa SYFH

(b) @] T e

(©)  qoHTHS AT

(d woag Bt

Fforfian 4 & Fomager w2 fawer 287 :-

(1) (@.(b).(c).(d)
(2)  (e).(d).(a).(b)
3)  (b).e).(d).(a)
@  (d.(e).(a).(b)

Options:

61547540593 1
6154754094 2
6154754095 2
6154754096, 4

Question Number : 125 Question Id ;: 6154751051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Read the following assertions :

Assertion (I) : Aphasia 18 an acquired disorder of communication which occurs due to

injury/disease to certain parts of brain

Assertion (II) : Wernicke’s study of hizs patients led to the recognition of a disorder of

communication called Global aphasia.

Choose the correct option :

(1) (I) and (II) both are correct
(2) (I) 1= correct, (II) 13 1ncorrect
(3) (I) and (II) both are incorrect

(4) (I) 13 incorrect, (II) 1s correct
Options:

6154754097 1

E154754098 2

£1547540599, 2

6154754100 4

Question Number : 125 Question Id : 6154751051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154754097 1
6154754098 2
5154754099 2
6154754100, 4

Question Number : 126 Question Id : 6154751052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following from List — A and Last — B :

List— A List — B
(a) Anomic Aphasia (1)  Disorders of comprehension
(b) Wernicke's Apha=ia (11) Childhood aphasia
(c) Global Aphasia (1) Naming difficulties
(d) Dysphasia (iv) Total loss of communication due to

injury to different parts of brain

Choose the correct option :

(1) (a)-(. (b)-(11). (e)-(v). (d)-(111)
2 (@-1). (b)-@). (¢)-(1id), (d)-({iv)
(3) (2. (b)-). (e)-(v). (d)-(11)
(4)  (a)-(i). (b)-(1). (c)-(1), (d)-(1v)

Options:

6154754101, 1
6154754102, 2
6154754103 2
£154754104 4

Question Number : 126 Question Id : 6154751052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt -1 &1 FEi-11 9 gafem i

-1 11
(a) A il umTEE (1) =g FHHEm
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HYYUT 1 i 79T

Eﬁﬁmﬁﬁﬂ

(1) (a)-(1). (b)-(i1). (c)-(1v). (d)-(111)
(2) (a)-(11). (b)-(1). (c)-(11), (d)-(av)
(3) (a)-(m1). (b)-(). (c)-(v). (d)-(11)

(4) (a)-(111). (b)-(1). (c)-(11), (d)-(1v)
Options:
61547541011
6154754102 2
6154754103 3
E154754104 4

Question Number : 127 Question Id : 6154751053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
With which of the following language teaching approach. ‘task based instruction’ 13 most
closely associated with?

(1) Audio lingual method (2) Communicative language teaching
(3) Direct method (4) Suggestopedia
Options:

51547541051
6154754106 2
E154754107 3
E154754108. 4

Question Number : 127 Question Id : 6154751053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Hr anifa sgw Frefea 4 | fem e feo 3oem § freem | wafaa 27

(1) ey fafy (2)  HYGUITEHE Yo e
(3) ey fafy (4) Arekfa® foego gure
Options:

E154754105. 1
E154754106 2
B154754107 3
6154754108 4

Question Number : 128 Question 1d : 6154751054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Read the following assertions :

Assertion (I) : Communicative Language Teaching (CLT) approaches emphasize the use
of techniques that engage learners in the pragmatic. authentic. functional
use of language for meaningful purposes.

Assertion (II) : Direct methods are forms of CLT approaches.
Choose the correct option :

(1) (I) 18 correct. (II) 1s incorrect

(2) (I) 12 1ncorrect, (II) 1s correct

(3) (I) and (II) both are correct

(4) (I) and (II) both are incorrect
Options:

154754109 1

154754110 2

154754111 =2

154754112 4

Question Number : 128 Question Id : 6154751054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154754109 1
6154754110 2
5154754111, 2
6154754112, 4

Question Number : 129 Question Id : 6154751055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sign language 13 a system of communication which implies and includes

(1) Forms of animal communication
(2) Gestures that we use while speaking normally

(3) Symbolic language like any other language but instead of speech, uses hand shapes

as s1gns

(4) Paralinguistic communication of body movements dependent on spoken language
Options:

154754112 1

154754114 2

154754115 2

6154754116 4

Question Number : 129 Question Id ;: 6154751055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(4)  FGF FEA 1 WHTS TUG0] H2F 9T TS 21

Options:
£15475411=2 1

E154754114 2
E154754115 3
E154754116. 4

Question Number : 130 Question Id ;: 6154751056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
CHILDES 1s

(1) a computerized database of child speech transecripts
(2) a computer programme for teaching children new words
(3) a software for teaching language to voung children

(4) the name of a child language researcher

Options:
61547541171

E154754118. 2
5154754119 3
6154754120 4

Question Number : 130 Question 1d : 6154751056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

CHILDES #1712 ?

(1) 9T 97 Sfdcigl &1 UF Hrgedisd S o
(2) =A% A0 Feg] & 9R § Rigw F1 vF Fege v
(3) == w9 & T F UF e

(4) 9T 991 & U e &1 am

Options:
61547541171



E154754118. 2
51547541159 3
6154754120 4

Question Number : 131 Question 1d : 6154751057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are true for Word Net?

(a) Word Net consists of three separate databases, one each for nouns and verbs, and a
third for adjectives and adverbs

(b) Closed class words are not included in Word Net

(c) Each database consists of a set of lemmas, each annotated with a set of senses

(d) List of antonyms for a particular sense 13 called ‘synset’.

Choose the correct option

(1) (a) and (b) are true
(2) (a), (b) and (c) are true
(3) (b). (c) and (d) are true

(4) (c) and (d) are true
Options:

1547541211

E154754122 2

154754123 2

6154754124 4

Question Number : 131 Question Id : 6154751057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (2) 3N (b) T 2
(2)  (a). (b) 3 (c) W& 2
(3)  (a). (b) 3 () WA 2
@ () ¥R (D) = 2

Options:

6154754121 1
6154754122 2
6154754123 2
6154754124 4

Question Number : 132 Question Id : 6154751058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Whach of the following is true for an interpreter?

(a) translates program one statement at a time
(b) scans the whole program and translates it as a whole
(c) cenerates error messages only after scanning the whole program

(d) uses languages like Python and Ruby

Choose the correct option:

(1) (a) and (b) are true
(2) (b) and (c) are true
(3) (c) and (d) are true
(4) (a) and (d) are true

Options:
£154754125 1
6154754126 2



E154754127. 3
E154754128. 4

Question Number : 132 Question Id ;: 6154751058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154754125 1

E154754126 2
6154754127 3
5154754128 4

Question Number : 133 Question 1d : 6154751059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The famous phrase of Dylan Thomas ‘a grief ago’ 1s an example of

(1) Interpretation (2) Archaism
(3) Parallelism (4) Deviation
Options:

E1547541239. 1
E154754120 2
6154754121 3
6154754132 4

Question Number : 133 Question 1d : 6154751059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) e (2) T 9EE
(3) g (4) To=em
Options:

BE1547541259 1
6154754130 2
E154754121 3
6154754132 4

Question Number : 134 Question Id : 6154751060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Indian sanskrit scholars had proposed the definition of “ritiratma
kavyasya™?

(1) Rajashekhara (2) Vishwanatha Kaviraja
(3) Vamana (4) Bhamaha
Options:

51547541331
6154754134 2
6154754135 3
61547541356 4

Question Number : 134 Question Id : 6154751060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFfoifiad 4 § foe wRd™ @oFa fage 5 fauem wee | 1 IR &1 geaa R o

(1) TSR ) TEveTy sl
(3) 954 (4) HHE
Options:

£154754133. 1
E154754134 2
E154754135 3
E154754136. 4

Question Number : 135 Question Id ;: 6154751061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following options involves the transfer of linguistic elements from one language

into another 1.e a sentence begins 1n one language and then makes use of words or phrases

belonging to another language?

(1) Code mixing (2) Code switching

(3) Borrowing (4) Neologiam

Options:



E154754137. 1
6154754138 2
51547541359 3
6154754140 4

Question Number : 135 Question Id : 6154751061 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frafafgn 4 & fFe gfea § wivs 931 &1 o 91 § 3799 997 § S0 IS 2 39 R a9 R
U WNT H 3TRY BT 2 31K 369 91¢ 390 3T WV & el 3R gaH! = fuE fear sy 27

(1) s fozm (2) hig IRadq
(3)  3eH (4) FaEregHAM
Options:

E154754137. 1
E154754138. 2
E154754139 3
5154754140 4

Question Number : 136 Question Id : 6154751062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following terms can be equated with ‘pidgin’ in the creocle continuum?

(1) Bazilect (2) Mesolect
(3) Aerolect (4} Sociolect
Options:

61547541411
6154754142 2
E154754142 3
E154754144 4

Question Number : 136 Question Id : 6154751062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fsraTe |rdcas HaHl faosl § fofafaa O fm g 6 g ofsm 5 6 s ge:di 2

(1) STEE 91 (9) [T IiYF
(3)  I=9 wifvs (4) =TS 9y
Options:

61547541411
6154754142 2
E154754142 3
E154754144 4



Question Number : 137 Question Id : 6154751063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following best describes the planning process that changes the function variety
and user rights?

(1) Corpus planning (2) Status planning
(3) Acquisition planning (4) Function planning
Options:

6154754145 1
6154754148 2
E154754147 3
5154754148 4

Question Number : 137 Question Id ;: 6154751063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
afe s ufskan & Sereasy Tl uran & gerl sAgar g dfaen s g gam 9 arell & stfasn o
afradq & 2 a1 o Ffataa 4 8 fegdh g @ adl 27

(1) h1dE (2)  E AT
(3)  wAferm SIS (4)  THE SRS
Options:

6154754145 1
6154754148 2
E154754147 3
5154754148 4

Question Number : 138 Question Id : 6154751064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Read the following assertions:

Assertion (I) : Language endangerment 1s not alwavs a result of a policy or a deliberate
goal.
Assertion (II) ; In the case of the Spanish in the Bahamas and the British in Tasmania.

mndigenous people were removed from their land. and the death of theiwr
languages was a by product of the death or displacement of the people.

Choose the correct option :

(1) I 1z wrong but II 1= correct
(2) I 1z correct but II 1s wrong
(3) Both I and IT are correct
(4) Both I and II are wrong

Options:
6154754149 1



E154754150 2
5154754151 3
6154754152 4

Question Number : 138 Question 1d : 6154751064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFrferfiaa safiyergai 1 ufeu
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(3) (D) 3 (D) 2H1 98l 21
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Options:

6154754149 1
6154754150 2
£154754151. 2
6154754152 4

Question Number : 139 Question Id : 6154751065 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Read the following assertions:

Assertion (I) : A theory of language ecology. in 1ts strong version. likens competition

between languages to competition between species.

Assertion (IT):  One important value of this version 1s that 1t only takes language—external

factors into consideration ignoring language—internal factors.
Choose the correct option :

(1) Both I and II are correct
(2) Both I and II are wrong
(3) I 1z wrong and II 1s correct

(4) I 1= correct and II 1 wrong

Options:



E154754153. 1
6154754154 2
5154754155 3
6154754156 4

Question Number : 139 Question Id : 6154751065 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154754153 1
6154754154 2
6154754155 3
154754156 4

Question Number : 140 Question Id : 6154751066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the following assertions:

Assertion (I) : Language death 1s the endpoint of language decay in situation where a

dominant language threatens the survival of a minority language.

Assertion (II): A language may also perish by being continuously transformed into a

daughter language.
Choose the correct option :

(1) I 1s true and IT is false
(2) Both I and II are false
(3) Both I and IT are true

(4) I 1s false and II is true

Options:

6154754157 1
6154754158 2
£154754159 2
£154754160. 4

Question Number : 140 Question Id : 6154751066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154754157 1



E154754158. 2
61547541559 3
5154754160 4

Sub-Section Number: 2
Sub-Section 1d: 61547548
Question Shuffling Allowed : Yes

Question Id : 6154751067 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension

Read the following passage carefully and answer the question numbers 91 to 95 :

Some have metaphorically compared language to an organism. A language or. more
properly a word. 1z said to have 1its birth. continuance as well as death. Viewed from 1its
psvchological backeground. every word has in 1t a historv of its origin. though 1t 1s very often
difficult for us to trace. Everv word. as Prof. Darmesteter has rightly pointed out. 1s the
symbol of an 1dea. It has been justly observed that ‘apart from the human mind. Language
has neither life nor reality’. The same 1dea has been expressed in a more clear wayv by
Prof. Savce: "All that the vocal organs can do 1s to supply the skeleton into which the mind

breathes the breath of life.”

Sub questions

Question Number : 141 Question Id : 6154751068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Language 1= comparable to an organism because

(1) organs of speech produce language (2) alanguage has a fixed hife-span
(3) a language gets fossilised (4) 1ts constituting words have a life-cyele
Options:

51547541611
6154754162 2
E154754163. 3
E154754164, 4

Question Number : 142 Question Id : 6154751069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Languages have theiwr life and reality in the

(1) mind of the users

(2) phyvsics of the words

(3) objects denoted by words

(4) breath of human users
Options:

5154754165 1
6154754166 2
6154754167 3
E154754168. 4

Question Number : 143 Question Id : 6154751070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Every word 1s the symbol of an 1dea™ means, every word

(1) denotes an object
(2) represents an object
(3) expresses the object-meaning

(4) points to the object as it 18 understood
Options:

154754169 1

6154754170 2

154754171 2

6154754172 4

Question Number : 144 Question 1d : 6154751071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The role of vocal organs in language 1s to produce :

(1) a meaningful word for the use of the speaker

(2) a random sequences of sounds uttered by the speaker

(3) a framework of sounds invested with meaning by the speaker
(4) an interruption of inhalation and exhalation

Options:

5154754173 1
6154754174 2
6154754175 3
E154754176. 4



Question Number : 145 Question Id : 6154751072 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A language may be considered as a given set of

(1) 1mages (2) sounds
(3) objects (4) 1deas
Options:

E154754177. 1
E154754178 2
B1547541739 3
5154754180, 4

Question Id : 6154751067 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension

freferfaa e &1 errgdss 9feu i 999 9 91 | 95 & I dif

F@ fagHEl 9 v =i i@ & I 41 21 feel off W sAgen fafered: sz % 994 0 FE A2
fof gaefl 3eafa 2l 2, o8 worer d vaan 2 i gaa sfa ol @ 21 gt gyl 6 gfe ¥ vers
e & I & i +I3 faam w11 8, TAM FHHE T SFTH BUN foe s wid9 B 2| WL s
4 39 wed U 3% B w8 B 6 gede vieg Tt fa=m & Adaes 2| 3fga @ fooadfi i w6 2 T e
uftess & forn s 6 9 1 Sfrea 2 3 2 2mdh #E ganedan)” Gk 838 3 28 o arfue voe w9 A
Afy=gad fohen 8 ;R @9 H FE kA 3H U gl YgH 1 2 faEd 59 9 ek 210

Sub questions

Question Number : 141 Question Id : 6154751068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TTT ] T Sifa | @ 91 GHhd] @, 911

(1) 9 97 97 ¥ Figyd gl 2| (2) w1 FHEa e s g 2|
(3)  ur SharsEa 31 ST 2| (4) 38 T weel &1 S =5k 2T 2|
Options:

£154754161. 1
6154754162 2
E154754163. 3
E154754164 4

Question Number : 142 Question Id ;: 6154751069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



UTNTET o1 a9 3R 3T FIET Higg 26T 2

(1)  vEEEET & g
(2) =gl i wifadr
(3) el g wgf=d awaet o

(4)  YEN S 9 TEE & 91 o
Options:
6154754165 1
6154754166 2
E154754167 2
6154754168 4

Question Number : 143 Question Id : 6154751070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

" e Tl foam w1 a2 @ stfine R 1B v Te

1) Tl =g = wglEm @ 2|
(@) T a%g =1 Ty = 2
(3)  a%g & AUWE H AfeEd w2

4) 39 9% & 3R a1 2 9 w9 7 59w goEf g 2|

Options:

6154754169 1
6154754170 2
£154754171. 2
£154754172. 4

Question Number : 144 Question Id : 6154751071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I § 9% 99 F1 YEE HEfakad § 8 31 309 S 2
(1) =91 % 390 & Ha $i5 g+ 7eg

(2)  T9q1 gRI ITNT =a] &1 Agles® #Y

(3)  eaHaEr Fit v (haas ) foad g9 gr A1uE # g e o 2

(4) 7959 3N IT2va9d & O =Ha9H

Options:

6154754173 1
6154754174 2
6154754175 3
£154754176. 4

Question Number : 145 Question 1d : 6154751072 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ary &1 Ffafen § @ fFee ags=g 0w 1 a9 2

(L =F (2) =
(3) 9% (4) fo=m
Options:

61547541771
E154754178. 2
E1547541739 3
E154754180. 4

Sub-Section Number: 3
Sub-Section Id: 61547549
Question Shuffling Allowed : Yes

Question Id : 6154751073 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



Read the following passage carefully and answer the gquestion numbers 96 to 100 :

In a descriptive grammar, the investigator has to delimit and identify what he will
regard as words and forms. and this he does 1n a variety of ways: one of the best being by
substitution, and another by slow dictation, using any feeling for word-units the native may
have. I mention the ‘word’ first, because the theory of the phoneme would appear to be bound
up with the theory of the word. The substitution of one phonetic performance or sound for
another may produce a different lexical unit. or a different form. or a sentence having a
different function. In deseriptive grammar therefore we employ our notation to represent
words 1n 1solation and in combination — so that the notation follows an analysis of the
morphological, syntactical. and lexical instruments. Throughout such a grammar, phonetic
notation would follow functional units or patterns as far as possible.

Sub questions

Question Number : 146 Question Id : 6154751074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Substitution involves a replacement within a

(1) erapheme (2) syntagm
(3) paradigm (4) construction
Options:

£154754181. 1
6154754182 2
E154754183. 3
E154754184. 4

Question Number : 147 Question Id : 6154751075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A Word may be differently identified because of variation in the

(1) phonetic articulation of a sound (2)  word-umt
(3) grammatical category (4) syntactic structure
Options:

E154754185. 1
6154754186 2
6154754187, 3
£154754188. 4

Question Number : 148 Question Id : 6154751076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In deseriptive grammar, the sound sequences of words follow :

(1) patterns (2) svntactic rules
(3) sequence of speech organs (4) meaning
Options:

E1547541839. 1



E154754190 2
5154754191 3
5154754192 4

Question Number : 149 Question 1d : 6154751077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In language description a smitable phonetic notation

(1) follows final morphological and syntactic analysis

(2) proceeds as the morphological and syntactic analysis develops
(3) 1s coterminus with lexical identification

(4) precedes final morphological and syntactic analysis

Options:

6154754192 1
E154754194 2
E154754195 3
B154754196. 4

Question Number : 150 Question Id : 6154751078 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The author makes a distinction between “words’ and forms’ because :

(1) word may have no one-to-one correlation

(2) words and forms have one-to-one correlation

(3) words and forms are distinguished by native speakers
(4) unlike forms’, ‘words’ have sound-sequence-patterns
Options:

BE154754197 1
6154754198 2
6154754199 3
6154754200, 4

Question Id : 6154751073 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH



fferfiaa e @i sarmgds gfeu 3k w3 @ 96 # 100 & I i

AUATCHE ST H 379 &l 39 dcdl 1 9HETA 3 3961 vEEE w7 usdl 8 9 98 e el
wq F1 7= 2 3 98 98 $ fafys =0 4 e 2 3udh gaew faftie O 8 v fafs ufeeemem &
g iR e Her fa | gfdera & mem | 21 o i safaa % vea wefoa faedt e -z & fo
freft wran = wwm fn Sren 21 vewE: e @ Ieoi@ TR e @ i wanfafn fagm 3w owee &
fagE 8 geag udia s & v wiafis w6 sge @i 50 93 @ 9@ ooy =61 % soasy
#73 i wmiees =R ¥ =1 &9 39T I 39 31 91 2 s =8 = 21 o o
SR H 7Y WO ey w1 uEe veg] i gYs W@Ed § 3R 5gme § e e F Igev | d 3
s A9y | g4 =y, g - a2 st miegs sagal &1 [Gvev 6 off ¥ 39 T8 & s
T w7 s A & qvEn J9EE YhTIieHs Uhd U Tiaed S|

Sub questions

Question Number : 146 Question Id : 6154751074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gftear= ° Fefafas 9 8 feoes e e 9fEds @ 2

() e @) TF-fT=m
3) ol o= 4) T
Options:

E154754181. 1
6154754182 2
6154754182 3
6154754154 4

Question Number : 147 Question Id : 6154751075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afefis 4 & el e & wrw ee £ 92== 9= 2 g9t 2

(1)  =amRfors Zoff (2) e UHF
(3) =l %1 wiHfms s==mm (4) TE-fa=mE & 8=
Options:

5154754185 1
6154754186 2
6154754187, 3
6154754158 4

Question Number : 148 Question Id : 6154751076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT AT T Wee] o eI H & T 397 ST 2

(1) homE @) Tg-fae %
(3) I Al F HA (4) wfoey




Options:

61547541589 1
6154754190 2
5154754191, 2
6154754192, 4

Question Number : 149 Question Id : 6154751077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wmyTs oo o svgew wmhtrE srfaemd

(1)  feg wfim stk T T e & sv=m e 2

(2)  wfom = 3k g s vy @ 93 s 2|

(3)  wnfeew diec™ § Gaag aia1 2|

(4) =g 3R g T Gveny & 9w 30 & a—a™ 3 9eq 2

Options:
61547541493 1

E154754194 2
E154754195 3
B154754196. 4

Question Number : 150 Question Id : 6154751078 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

oEs v 3wy # fasde w2 aEbit

(1) =g 31k w9 1 Uk deaay g 2|

(2) g # {hEl 9K 1 Ufehh (TER) He-HaY A g w6l 2
(3) s a9a1 vee 3k w9 o faig #a 2

@) =7 § firm wee’ | wafi-mn ufter fauem g 2

Options:
61547541497 1

E154754198. 2
E1547541939 3
B154754200, 4



